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Tuesday, February 10, 2009

--- On commencing at 9:30 a.m.

MS. SEBALJ:  Good morning, everyone.  If everybody is ready, we will get started.  My name is Kristi Sebalj, and I'm Board counsel.  I am accompanied by a number of Board Staff, Daria Babaie, Sylvan Cheung, Martin Davies and Violette Binette.


Thanks, everyone, for coming.  For those of you who have participated in technical conferences before, you will know Board Staff's role, other than also being a party that wants to ask questions of the applicant, is to organize the proceedings today.

In a moment I will set out the history and the context for the purposes of the record, but before I do that, why don't we go ahead and register appearances on the record?  Do you want to start, Andrew?
Appearances:


MR. TAYLOR:  Andrew Taylor, counsel for Bluewater Power.

MR. SHEPHERD:  Jay Shepherd, School Energy Coalition.

MR. THOMPSON:  Peter Thompson for Canadian Manufacturers and Exporters.  I am pinch hitting for Vince DeRose, who can't be here today or tomorrow, but will be here Thursday, I believe.

MR. HARPER:  Bill Harper for the Vulnerable Energy Consumers' Coalition.

MS. DADE:  Christine Dade for AMPCO.

MR. LORD:  Andrew Lord for AMPCO.

MR. CROCKER:  David Crocker for AMPCO.

MR. BUONAGURO:  Michael Buonaguro, counsel for VECC.

MS. SEBALJ:  Thanks.  Many of you will be aware that the mic system in this room is tricky.  The green button is the button to press.  When the light comes on, in theory, your mic is on.  You will want to be careful, because some of the mics are connected to each other, so you may cut one of your colleagues off if you turn your mic off.  So just be aware of that.

By way of background, the notice of application and hearing for this matter was issued September 24th.  PO No. 1 was issued October 22nd, 2008, and that made provision for interrogatories and technical conference.


Bluewater declined to have the technical conference which was originally scheduled for December 8th by way of letter dated November 27th.  Once the interrogatory responses were received, the Board issued second procedural order on January 6th, 2009, which sought the input of all parties as to the appropriate next steps.


Based on those submissions, the Board issued a third procedural order on January 21st which allowed for a second round of interrogatories to provide an opportunity for all parties to ask clarifying questions that related specifically to existing interrogatory responses.


That same procedural order also made provision for a settlement conference and determined that the case would proceed by way of oral hearing.


On January 23rd, Bluewater filed a letter with the Board and advised that on January 12th, 2009, UBE Automotive North America announced that it will be closing its wheel manufacturing plant in Sarnia.  Bluewater indicated that the UBE closure, as well as one other closure of an intermediate-size customer, would result in a deficiency of approximately $400,000 per year based on the rates proposed in Bluewater's current rate application.

Bluewater also stated that it would update its evidence prior to February 2nd and that in that evidence it would propose a methodology to mitigate the revenue deficiency.  As a result of this change, Bluewater requested that first day of the settlement conference, that was then scheduled for today, be used for a transcribed technical conference to allow parties to ask questions regarding the impacts and the proposed methodology.


By way of Procedural Order No. 4, which was issued January 27th, the Board granted Bluewater's request and ordered today's technical conference.  The Board requested that parties file questions with the Board and to the applicant prior to the technical conference to ensure a most efficient use of time.


On February 2nd, Bluewater filed with the Board an update to its prefiled evidence to address the pending closure of those two customers.  I note that the rest of the scheduling in Procedural Order No. 4 remained unchanged, so what that means is that we are under a very tight schedule beginning today.


What was essentially supposed to be the beginning of a settlement conference is now a technical conference, and the parties are still committed, should they reach settlement, to file any settlement proposal by Friday of this week.


So it is important that we use our time as efficiently as possible today, and we understand, in speaking with the applicant, that it is possible to move into at least preliminary settlement discussions today, once the technical conference is closed.

So for this morning, there are a just a few things that I want to take note of.  First, the scope of the questions for this technical conference is restricted to the applicant's responses to written interrogatories filed by parties -- sorry, and Board Staff to addressing any follow-up questions related to the UBE closure.  Sorry, I said that wrong.


It's restricted to the questions that were asked in interrogatories of the applicant with respect to the UBE closure and the Polymer closure, those two customers.


Second, given the time restrictions, we have to be careful and limit the need for undertakings, so I am hoping that all parties can attempt to get whatever information you can on the record from the applicant in real time, if that's possible.

Finally, as you are all aware, this proceeding is being transcribed, so that I would ask that you speak very clearly and as slowly as possible so that the court reporter can record everything today.


As I understand it, in speaking with counsel to the applicant, Bluewater is going to give us a brief introduction today with respect to the evidence that's the subject of today's technical conference.


In terms of questions, the Board proposes to read its questions into the record first and give the applicant a chance to respond to those.  If anyone takes issue with that and wants to go ahead of time, that's fine by us.


If there's no objection to that, then I suggest we go in the order of appearances.  If there are any disputes today about anything, obviously there is no panel, so we will have to record that dispute and attempt, obviously, to resolve it, but if there are any outstanding issues, then those will have to be addressed outside the context of this proceeding.

If there are any questions or any preliminary issues from anyone?  Hearing none --

MR. THOMPSON:  If it's okay with everyone else, I would like to stand down to the end.  I am just kind of getting up to speed with this and would prefer to go at the end of intervenors, if that's okay.

MS. SEBALJ:  That's fine by me.

MR. SHEPHERD:  Maybe Mr. Thompson can go just before me, because I would like to go at the end, too.

MS. SEBALJ:  Maybe you guys can fight out the last position.  Bill, are you okay, and Michael?  David?  Okay.

All right.  Well, the Board may have some questions that are duplicative of other parties, so we will get things started. Andrew, I will turn it over to you.

MR. TAYLOR:  Sure.  Before we provide our overview, I thought this would be a good time for the panel to introduce themselves.  These are the Bluewater representatives.  Go ahead, John.
BLUEWATER POWER - PANEL 1


John Todd


Alex Palimaka


Mark Hutson


MR. TODD:  I think the light is on there.  John Todd.  I am president of ERA and consultant for some of the matters with Bluewater, here to assist, as appropriate.

MS. DUGAS:  I'm Leslie Dugas, the manager of regulatory affairs of Bluewater.

MR. PALIMAKA:  My name is Alex Palimaka.  I'm the vice president of corporate services and general counsel for Bluewater Power.

MR. HUTSON:  My name is Mark Hutson.  I am the controller for Bluewater Power.
Presentation by Mr. Palimaka:


MR. PALIMAKA:  I will provide a brief introduction of our update.  I will cover matters that are addressed in the questions, but I think it is important to provide an overview, because that will help make sense of some of our answers to the interrogatories.


As you know, this application relates to two customers who have publicly announced their closure since the filing of our rate application in September.


In other words, these customers were included in our customer forecast for 2009 test year, and we have since learned that they will be closed at some point in 2009.  And as we will discuss in a minute, the fact that it is at some point in 2009 provides some insight as to why we have proposed the solution that we have proposed.


The two customers, the first is Royal Polymers.  In our application filed in September, we had already proposed to remove 50 percent of their 2007 load from our 2009 forecast.  That's because we were already aware that this customer was facing market pressures and had reduced their consumption off and on during the 2008 year.  So we were aware that this customer was facing some challenges.


If we had not proposed that adjustment in our 2009 rate application, the financial impact on a 12-month basis of this customer closing would be approximately $132,000.  As it stands, we have proposed an adjustment -- a further adjustment to the forecast, so that the net impact of their closure, if we do nothing, would be $88,000.

Now, it's important to point out that on December 8th, 2008, Royal Polymers announced their closure.  They did not put a date on their closure.  At this point in time they continue to -- they are in what they have described as a decommissioning phase.  They are still drawing a fairly significant load, and the only information that we have is that they will likely be drawing that level of load for another four months.  We have no information as to what their load would be beyond that point.  And we have no idea exactly what date they will cease to be a customer.

UBE Automotive, at the timing of filing our application, we weren't aware that this customer was facing market pressures.  The consequence of their closing, if do not update our rates, would be a loss of $425,000 on a 12-month basis.

I want to point out that we are not seeking to update our rate application with respect to other impacts, due to the economic downturn that we know we are likely to face.  For example, in response to OEB Interrogatory 6.1, we provided an analysis, assisted by ERA, that suggested that the impact on our revenue -- our revenue from customers in the residential GS less than 50 and GS greater than 50 class would be on the order of magnitude of $180,000.  We have not proposed to update our application to reflect those customers.

I just want to turn to the proposal then.  At page 9 of our update we list options that we considered in order to respond to this challenge.  I don't want to speak to those challenge, but -- those options, sorry, but I wanted to point out that there is one option that is not specifically listed on page 9, and the fact that we have not listed it seems to have caused some confusion.

That is the fact that one option would have been to update the 2009 forecast to reflect UBE being a customer for six months, for example, and Royal Polymers being a customer for six months, for example.

We rejected that option, and it is discussed throughout our update that we did consider and reject that option.  But -- and we rejected it because essentially it would not create the right rates for the test year and it would not create the right rates for the IRM period.  It would not solve the entire problem.

What we have put forward, therefore, is a package solution that solves all of the problems that we face with the loss of these two customers.  The key to our proposal is that we seek to set rates that are right for the time period after UBE closes and after Royal Polymers closes.

So with our proposal the date of their closure does not matter.  We have assumed that they are closed for the full 12-month period, and the package solution is that we would then commit to record any net revenues from these customers to a deferral account, to be later disposed to customers.

This offers our utility certainty that we will be able to respond to this -- at least this portion of the economic challenge that we already face and we know that we will face.  And what we will point out this morning is that it in fact is a conservative approach that will benefit our customers by reducing our revenue requirement by $116,000 annually.

That's discussed in Table 10 of our update, and we will discuss it this morning as well.  But I just want to highlight how it is that our customers come to benefit through a reduced revenue requirement.  That comes in three ways.

First, we have acknowledged that when UBE closes, approximately $600,000 of our assets becomes stranded.  The net book value of those assets is $422,000.

So the first impact on revenue requirement is a reduction to amortization of approximately $25,000.  The second reduction to revenue requirement comes in the form of reduced return on -- sorry, reduced return on equity and debt due to a reduction in rate base.  That comes in two ways:  First, the reduction of $422,000 to the net book value of our fixed assets, and secondly, by removing these customers entirely from the forecast, that has significantly reduced our working capital.

The net impact of both of those is approximately a $61,000 reduction in our rate -- the weighted average cost of capital for our rate base.

The third impact is related to that, and that is a reduction of PILs, and the net impact is a further reduction of $29,000.

So we acknowledge that one alternative to what we proposed would be to rely upon a Z factor during the third GIRM period.  What we would like to point out is that a Z factor would in fact lead to a higher net cost to our customers, because the proposal that we have set sets the right rates for three years and thereby reduces our revenue requirement by $116,000 per year.

Our customers are benefiting by nearly half a million dollars by the proposal that we have put forward versus the alternative, which would be to leave these customers as -- in rates as originally proposed and to put -- and to then approach the Board when they ultimately close and ask for the lost revenue to be put into a Z factor.

That's all I had to say by way of introduction.  If there are any questions on that, I would be happy to, but it might be more helpful to now walk through the detailed responses that we have to the interrogatories.


MS. SEBALJ:  Just a point of clarification.  You had indicated that there were three benefits to the reduced revenue requirement:  stranded assets, reduced return on equity, and debt.  Are you saying that the reduced return on equity and debt are the number 2 and number 3?

MR. PALIMAKA:  No.

MS. SEBALJ:  Or did I miss the third?

MR. PALIMAKA:  One is, by declaring some of the assets stranded, we have reduced amortization --

MS. SEBALJ:  Oh, I'm --

MR. PALIMAKA:  -- included in our OM&A by 29 -- by $25,000, sorry.  I lumped together the reduction in our fixed assets due to the stranding of these assets and the reduction to working capital due to the removal of these customers from our forecast into one.  That was a $61,000 impact.

MS. SEBALJ:  Okay.  Thanks.  I just wanted to clarify.

MR. PALIMAKA:  Sorry, Mr. Hutson was just suggesting that all of this is set out in table 10, so if you want to turn to table 10, that might assist and provide some guidance to my answer.

MR. TAYLOR:  table 10 is in the package that we gave out at the beginning.

MR. HUTSON:  No, sorry, table 10 is in the original February 2nd update.

MR. TAYLOR:  All right.  Thanks.

MR. HUTSON:  Table 10 at page 11 of the original update, the update of February 2nd.

MS. DUGAS:  That is the table of handouts.

MS. SEBALJ:  Mr. Taylor, did you want to mark this package or introduce it somehow?

MR. TAYLOR:  I'm happy to --

MS. SEBALJ:  Is it part of the -- are these the answers to the questions?

MR. TAYLOR:  These will facilitate the answers, and in some cases they are answers as well.  So --

MS. SEBALJ:  So do you want to wait until it is needed?

MR. TAYLOR:  We could do it now as a package or as needed.  I'm happy doing it now as a package.

MS. SEBALJ:  Okay.  Let's just mark it TC1.1.

MR. TAYLOR:  Sure.

MS. SEBALJ:  And for the record, it's Bluewater Power Distribution Corporation, tables for the responses to interrogatories to update of February 2nd, 2009 rate application.
EXHIBIT NO. TC1.1:  BLUEWATER POWER DISTRIBUTION CORPORATION, TABLES FOR RESPONSES TO INTERROGATORIES TO UPDATE OF 2 FEBRUARY 2009 RATE APPLICATION.


MR. TAYLOR:  So before we launch into the specific interrogatories, did anyone have any high-level questions?  So if not, then perhaps this would be a good time to move into the interrogatories.

MR. THOMPSON:  Can I just ask one?  You talked about -- and this table 10 talks about amortization expense, and then it talks about the regulated return on capital and PILs.  Is there not some depreciation savings here as well?  Is that rolled up in these numbers?

MR. HUTSON:  Well, that is the amortization expense.

MR. THOMPSON:  Okay.  Thank you.

Questions by Board Staff:


MS. SEBALJ:  All right.  I am just going to -- in some respects this might be painstaking for people, but because we are being transcribed today, I am actually going to read the questions of the Board into the record so that it is complete.

The first question is to deal with OM&A, and the reference is the update to the application, Exhibit 1, tab 1, schedule 3.1, and it's page 4 to 8 of 19:
"Bluewater indicated that both an intermediate and large user customer that it serves will close no later than the end of 2009.  On page 7, it stated the following:

"'After UBE ceases operations, some of these facilities will be redeployed to serve customer growth occurring close to the UBE plant.  These facilities will be utilized by all customer classes in the future.  $639,687 of the gross asset value will no longer be used and useful to Bluewater Power in providing service to its customers.  This amount and the associated accumulated amortization, being $217,493, will therefore be removed from Bluewater Power's rate base.  Bluewater Power will seek to recover $422,193, being the net book value of these stranded assets from UBE.'"

That's the end of the quote.  On page 8, table 9, Board Staff notes that no updates were made to the OM&A total.  (a), which I think our first question was partially answered by your explanation, but:
"Please provide an explanation as to why there was no need to remove the amortization expense related to the stranded assets, if any, from Bluewater's original proposed OM&A in total."

And question (b) is:
"Please provide an explanation as to why there was no need to remove the operation, maintenance and administration costs related to the stranded assets, if any, from Bluewater's proposed OM&A total."

MR. HUTSON:  Question (a), amortization expense is not grouped with OM&A.  If you look at the next line down, depreciation, that's where you will find the reduction of amortization expense related to the stranded assets of $25,587.

MS. SEBALJ:  Sorry, are we on table...

MR. HUTSON:  We are on page 8 of 19, table 9.

MS. SEBALJ:  Yes.

MR. HUTSON:  The third line down labelled "depreciation".

MS. SEBALJ:  Yes.

MR. HUTSON:  You can see that it's reduced from 4. -- or 4,358,000 down to 4,332,000.  That's the reduction in depreciation expense or amortization expense, same thing.  We use those terms interchangeably.

MS. SEBALJ:  And is that the 25,587 from table 10?

MR. HUTSON:  That's correct, that's the difference.  And also on table 10, which we were just talking about, it's also outlined on that table, as well, on page 11 of 19.

MS. SEBALJ:  Yes, that's clear now.  Thanks.

MR. HUTSON:  Okay.  Thank you.  Part (b), Bluewater Power estimates that the total OM&A cost related to the stranded assets is approximately $5,000.  The majority of this amount relates to labour hours pertaining to a transformer.  The labour hours are used for oil sampling, inspection and routine maintenance of this transformer.


The remaining stranded assets consist of relatively new underground plant serving only UBE, so, therefore, obviously there is no associated OM&A costs with that.


Due to the age and extent of our distribution infrastructure, and the limited number of personnel, these labour hours will still be used and useful.  They will still be incurred on other distribution assets.  That's why we didn't take a reduction in O&M.

Just to recap, the stranded assets is one transformer, one very unique transformer specific only to UBE, and the underground plant that's serving UBE.  So that's why there is really no O&M involved.

MS. SEBALJ:  I am sorry, for the uninitiated, underground plant is physically underground and that's why there is no O&M associated with it?

MR. HUTSON:  That's correct.

MR. BABAIE:  On your 2009 OM&A, was there any portion allocated for the UBE?  Was it just only the $5,000 or was there any other budget there?

MR. HUTSON:  The OM&A would be grouped in total for our entire maintenance of our infrastructure.  Like, it wouldn't -- because it's such a small dollar amount, we didn't specifically identify an amount pertaining UBE just by itself, because while our linemen are in the area, they're maintaining or testing transformers all in the area.  So that's why we didn't specifically target, customer by customer, O&M.

MS. SEBALJ:  Thanks.  The next couple of questions relate to load forecast.  The first question reference is of course the update to the application, Exhibit 1, tab 1, schedule 3.1, pages 4 and 5 of 19.  On page 4, Bluewater stated that:
"On January 12, 2009 Bluewater learned that UBE intended to cease all commercial operations within six months.

"(a) Please provide the annual consumptions in kilowatt-hours and kilowatts for UBE for the period from 2003 to 2007.

"(b) Please provide the detailed data used to calculate the adjustment of 41,480,533 kilowatt-hours for the large customer class under table 1 on page 4..."

Excuse me, page 5:
"(c) Please provide the detailed data used to calculate the adjustment of 71,620 kilowatts for the large customer class under table 5 on page 5."

MS. DUGAS:  In response to part (a), the package that you received today, table 1, details the annual kilowatts and kilowatt-hours for UBE for the period 2003 to 2007.  In response to part (b), in the package you received today, table 2, details the adjustments that were used to determine the amount that we would remove from the 2009 forecast.


And that was based on the 2007 actual data for that customer, and the trend or growth factors that were embedded in the forecast were applied to the 2007 data to determine what the 2009 amount was.  And, therefore, that would be the appropriate amount to remove from the 2009 forecast.


The response to part (c) relates to the kilowatts, and it is also answered in table 2 of the handout you received today.

MS. SEBALJ:  Thanks very much.  The next question is reference update to application Exhibit 1, tab 1, schedule 3.1, pages 6 and 8 of 19, appendix B:
"On page 9 of the above evidence, Bluewater listed four options, including its preferred option of updating the 2009 rates assuming UBE and Royal are closed.  In table 6 on page 6 of the reference above, Bluewater stated that the projected one-year distribution revenue shortfall associated with the closure of UBE and Royal was $513,820.19.  On table 9 on page 8 of the reference above, Bluewater stated that regulated revenue difference between original forecast and 'updated for known loss of load' is stated as $513,820, which is the $21,436,076 minus $20,922,256.

"From the information outlined in table 6 and table 9 of the above evidence, Board Staff notes that Bluewater's preferred option assumes the closure of UBE and Royal takes place on January 1, 2009.  UBE and Royal closed on a full twelve-month basis.  In appendix B, UBE states that the UBE Sarnia plant would be shut down between July and December 2009."


For some reason we switched from "(a)" to "(i)", so question (i):

"Has Bluewater considered an alternate option of updating its load forecast, assuming plant closure for UBE as of July 1, 2009, based on assumption that UBE may close on July 1, 2009?  If not, please explain why not."


And question 2:

"Please provide a load forecast based on the assumption of UBE's closure as of July 1, 2009, and identify regulated revenue shortfall and customer bill impacts under this scenario, assuming a two-year and three-year deferral/variance account disposition."

MR. PALIMAKA:  I did address this issue in part in my introduction, but we will use this opportunity to provide a little more detail.

As I said in my introduction, the intent of our proposal is to get the base rates correct for the IRM period.  We want to -- we prepared a forecast assuming that UBE and Royal are gone, because we know that that is eventually where this utility will be.

The -- there are complications with preparing a forecast basted on a possible closure date for UBE and a possible closure date for Royal Polymers, first of all.  The date that they will be closed is unknown.  There is uncertainty as to what date they will be closed, and we realize that in preparing a forecast we are always dealing with uncertainties, but we would submit there is a big difference between predicting new residential customers, new GS less than 50 customers, than there is predicting the loss of a large customer like UBE or Royal Polymers.

So we believe that the uncertainty around their possible closure date is one reason why an approach like this is not appropriate.

The second reason is that -- the second sort of detailed reason is that it is difficult to develop an appropriate cost allocation study to deal with that eventuality.  I would like John Todd to speak to that.  We have had some discussions on the issue, and if he could provide some guidance on the issue of the challenges that you'd faced in preparing a cost allocation study to deal with a part year of two large customers.

MS. SEBALJ:  Can I just ask one sort of follow-up before we go there?  The letter from UBE, at least on its face -- and I am sure you have had many other discussions than what is in that letter, but on its face it is pretty clear that they are going to be open for a half year.  So do you have a different understanding?

MR. PALIMAKA:  No, their position is they will be closed between six and 12 months.  They have existing contracts with customers to supply wheels.  They are attempting to get out of those contracts, but absent their ability to get out of those contracts they will be open for at least six months.


MS. SEBALJ:  So in choosing a date -- I guess perhaps Mr. Todd will be able to help with why, but it seems just as arbitrary to me to choose January 1st as it does to choose July 1st, and July 1st seems like a better guess.  Is that --

MR. PALIMAKA:  And that's not the point of our proposal.  The point of our proposal is not to guess the closing date.  The point of our proposal is to say, let's look at the what the forecast would be, assuming UBE and Royal were gone for a full 12-month period.  That will get base rates correct for the third-generation incentive rate-making period.

That would not be a complete solution, we acknowledge, unless it's also packaged with a deferral account.  So we would submit that our proposal is a complete package that is -- that allows the utility certainty and is fair to the ratepayers, because we will not -- we will record any revenue from those customers net of any direct costs to a deferral account, so that there will be no -- there is no benefit to -- there is no benefit that the corporation can gain if this customer stays open past our projected date.  There is no risk that we face if the customer closes before the projected date.


MS. SEBALJ:  Can I just ask one more, and then I think my colleague has a question as well.  In your opening you mentioned Board Staff IR 6.1 and the fact that you had predicted a potential of another $180,000, approximately, of loss, which is not included in this.

Is there a reason that -- because to my mind, when I look at this, the polymer plant is -- that's just as significant, if not more significant, than the loss of the polymer plant, for instance.

So what's the rationale at this point, if you are already coming forward with a new proposal for not including that as well?

MR. PALIMAKA:  We saw these two customers as known impacts to our forecast.  The answers that we provided in response to OEB Interrogatory 6.1 were forecast.  They were a best estimate.

So in our mind there is a fairly significant difference between a forecast and a known event.  And frankly, we didn't want -- we think that the UBE closing and Royal Polymer closing are important for us to deal with, and we didn't want to cloud the issue with uncertainties over a forecast.

MS. BALAIE:  Thank you.  The question I have is, would you agree that any forecast at the end of the day is a forecast, and basically is embedded with some uncertainty in terms of the load, in terms of the revenue?  Would you agree on that?

MR. PALIMAKA:  Yes, we agree that a forecast is subject to uncertainty.  That's why we didn't want to put in the residential, the GS less than 50 customers, because that is always -- there is always some uncertainty.  But the difference is that UBE and Royal are known impacts.

So we know today that the forecast is wrong, so we think that it's appropriate, knowing that the forecast is wrong, that it be updated.


MR. BABAIE:  I guess the follow-up question also is, assuming that the options that -- the scenario that we are discussing is a viable option, would it be reasonable to say that the closure of UBE as of July the 1st gives you the worst scenario, in terms of the forecast?

MR. TODD:  If I can step in.  I think there's been some -- perhaps we haven't effectively communicated what we are trying to accomplish here.

MS. SEBALJ:  I am not sure that your mic is on.

MR. TODD:  Oh, I thought they were all on.  Okay.  Is that okay?  Yes.

I just want to make sure there is a clear understanding.  First of all, removing Royal and UBE for purposes of this update is not a forecast, okay?  It's a separate issue.  If you're talking a forecast, the forecast would be, probably they're around for half the year.  That would be a forecast if what we are dealing with was only a traditional one-year test year, general rate application.

The problem that we have been facing here is that these rebasing applications -- this rebasing application serves two purposes simultaneously.  One purpose is, it is a standard GRA setting rates for test year.

And there's a straightforward approach, which I think everybody is leaping to fairly quickly, quite properly, that would be the approach that we would use if all we were doing was setting rates for the test year and that's it.  The approach would be, let's take the best available forecast of the volumes and use that for rate-setting purposes.

But this is a rebasing application.  And not only that, it is a rebasing application occurring for purposes of incentive regulation, which is explicitly designed to be in a business-as-usual stable environment, and we are actually dealing with extraordinary circumstances and unusual economic situation in Ontario, especially in the auto sector, and we are seeing some impacts which undermine the principles of incentive regulation.

In particular, what we are doing is, we are establishing a base year.  In fact, we are establishing base rates for the incentive period.  The base rates for the incentive period should in principle be rates that reflect the base situation for the IRM period.

Now, the base situation for the IRM period for the next few years is that these two plants will not be there.  Therefore, for purposes of setting base rates, the appropriate thing, the theoretic and conceptually appropriate thing, is to remove these two customers.

And if the sole purpose of this exercise was to set base rates for the IRM period, I think there would be no discussion about removing these customers, because on a going-forward basis on incentive regulation, that's the correct base or starting point for IRM.


With the two purposes, there is a disconnect, because if you set the right base rate for the going-forward period, you are then over-collecting in the test year, therefore, the deferral account, to say we will recognize that over-collection with these rates as base rates and give them back to customers so that there is no benefit to the company.  Okay.


So to understand this proposal, you have to separate out the two concepts of the rates we are setting, the base rates for IRM and the test year rates.  Ad how you bridge that disconnect?  I think what we have come up with is admittedly a creative, but I think very appropriate and very effective way to address that challenge.


My original reason for coming in with the comment going back to before the questions - I might as well do that while I am talking - was around dealing with cost allocation with customers in for a half year, and I would just say if we were actually to run that -- I mean, you could do that in the cost allocation model, but the first step in the cost allocation model is we start with the hourly load profiles by class for the year.


If you explicitly, for cost allocation purposes, had large customers dropping out half way through the year, that would skew your allocators.  In particular, you would probably end up with all of your peaks in first six months of the year, when, in fact, my recollection is I think three of the four coincident and non-coincident peak months occur in the last half of the year.  And, therefore, you could have a very significant impact on your peak allocators because you have got some customers in for half of the year, and my recommendation would be, if you want to have some resilience and some significant meaning to the cost allocation process, you would want to have stability through the year.  You would either want to have them in for the year or out for the year for cost allocation purposes.  Of course that is quite different than for rate-setting purposes.

MS. SEBALJ:  I see here, in what is now marked as Exhibit TC1.1, that there is a table 32.1(2).  Is that intended to --

MS. DUGAS:  Yes, that is the results if we were to remove UBE for half a year impact.  But please note that the underlying cost allocation model assumes that UBE is removed for the entire period.

MS. SEBALJ:  Sorry.  So that means that even -- I haven't had time to look at this, but -- so you are saying that these numbers still assume, for cost allocation basis, that they are there for a full year?

MS. DUGAS:  For cost allocation basis, UBE has been removed.

MS. SEBALJ:  Oh, has been removed, okay.

MR. TODD:  Again, it is the concept of the cost allocation and everything is set to get the right base rates for the IRM period, which means they are out.

MS. DUGAS:  But that is one factor, and then in order to come up with the July 1st closure, basically the model took out the starting point as our update, which had fully removed UBE, and then added back half of their load.  And this is the resulting scenarios.


So we added half a customer for 2009 and half of their load in order to come up with the revised bill impacts that you will see on table 3 in response to part -- table D and table E.


Table D represents the bill impacts assuming a July 1st closure with a three-year deferral account disposition period.  Table E represents the same analysis with a two-year deferral account disposition.

MS. SEBALJ:  All right, thank you.  Our third question relates to rate base and capex, the same reference, but page 7 of 19, as well as the update of Bluewater Power's 2006 cost allocation study, Exhibit 8, tab 1, schedule 1, attachment 1:
"It is stated that as a result of UBE ceasing operations, there will be a net book value of stranded assets of $422,193 which will no longer be used and useful to Bluewater and that this amount will therefore be removed from Bluewater's rate base.  It is also stated that Bluewater will seek to recover this amount from UBE."

There are a number of questions:
"(a) Please provide the journal entries that will affect the removal of these assets from Bluewater's rate base;
"(b) Please provide an update as to the status of Bluewater's discussions with UBE regarding recovery of this amount;
"(c) In the event Bluewater is successful in achieving recovery of the stranded asset value from UBE, please state what, if any, regulatory implications of such a recovery are envisaged;
"(d) In the event Bluewater is unsuccessful in achieving this recovery, please state what, if any, regulatory implications are envisaged;
"(e) On page 13 of the updated cost allocation study, it is stated that:  'Approximately $573,700 of these directly allocated net fixed assets will be stranded when the plant is shut down.' Please reconcile this amount with the $422,193 discussed above."

MR. HUTSON:  The answer to part (a), I will refer you to table 4 of the handout we just provided.  The journal entry is outlined on table 4.


The first part of that journal entry, the entire cost of the stranded assets are reallocated to account 2075, which is the non-utility property owned asset account, and then the second part of that journal entry, the associated accumulated amortization is reallocated to account 2108.  Again, it's a non-utility account.


The combination of these two accounts, account 2075 and account 2180, effectively removes the net book value from rate base.

MS. SEBALJ:  Thanks.

MR. PALIMAKA:  With respect to question (b), I can confirm that discussions have taken place with UBE.  It wouldn't be appropriate for me to comment any further on that, as I wouldn't want to prejudice any ongoing potential negotiations or potential proceedings in that collection.

MR. THOMPSON:  Can I ask a question there?

MS. SEBALJ:  I am still thinking through my next question, sure.

MR. THOMPSON:  Do you have some sort of contractual right to make a claim?

MR. PALIMAKA:  Yes, we do.

MR. THOMPSON:  And under the contract, do you consider you have a right to recover the full amount?

MR. PALIMAKA:  We certainly take that position, yes.

MR. THOMPSON:  Is that contract in evidence?

MR. PALIMAKA:  It's not, and we would submit it wouldn't be appropriate to put it into evidence.

MR. THOMPSON:  Thank you.

MS. SEBALJ:  Can I assume that the inability to put it into evidence is due to confidentiality concerns?

MR. PALIMAKA:  Confidentiality, and we wouldn't want it being in evidence and any subsequent questions around it to prejudice the potential collection proceedings.

MR. SHEPHERD:  Given that you are refusing to file it, we then obviously would like it filed in confidence.  We would like it filed in confidence.

MS. SEBALJ:  I guess I am not understanding how that would prejudice negotiations.  I don't think anyone in this room is in a position to prejudice negotiations with UBE, but do you have a particular concern with a particular party or...

MR. TAYLOR:  I understand the basis for your questions and I understand Jay's comment, as well.  I was wondering if perhaps I could discuss this issue with my clients offline?

MS. SEBALJ:  Certainly.  We will leave it at that for now.  So I think we are on to (c), which is -- the (c) and (d) are the hypotheticals, so hopefully we can at least go into the hypothetical realm.

MR. HUTSON:  So for part (c), given that the stranded assets will be removed from rate base, there will be no regulatory implications regarding any recoveries.

MS. SEBALJ:  Okay.


MR. PALIMAKA:  Okay.  I can maybe provide a little further guidance which will assist in understanding our position.  We will discuss this issue offline with Mr. Taylor, but in answer to B and C, one overriding comment would be that the proposal that we put forward is that, regardless of our recovery, whether we are able to recover 422,000 more or less, $422,000 will be coming out of rate base.

So to that extent, the contract, its enforceability, any negotiations that might follow from the contract aren't relevant to the position we have put forward.  We are proposing that we would take out $422,000, regardless of whether we are successful in collecting that amount.


MR. BABAIE:  Is that in write-off?

MR. PALIMAKA:  Pardon?

MR. BABAIE:  Writing off, I guess?  Is that what you mean?

MR. PALIMAKA:  The journal entry would be as disclosed in answer to 3(a).  Sorry, so -- and then for clarification of that, for rate-setting purposes they are written off, correct.  From a company perspective we will still own the assets.


MS. SEBALJ:  Rather than translate Mr. Davies' questions -- he is far more knowledgeable than me.

MR. DAVIES:  Just to clarify, when you say "we will still own the assets", is "we" the regulated utility or the parent company?  Could you just clarify who "we" is?

MR. PALIMAKA:  Bluewater Power Distribution Corporation, the regulated utility.

MR. DAVIES:  The regulated utility is still going to own these assets, even though they have moved to non-utility accounts?

MR. HUTSON:  Yes, by putting them in the non-utility account, that specifically excludes them from rate-making purposes.

MR. DAVIES:  Okay.  So your position is, you are moving them into non-utility accounts, and by doing that, any further implications, whether good or bad, are off the regulatory books.

MR. HUTSON:  That's correct.


MS. SEBALJ:  Deferral account.

MS. DADE:  Since we were just on that line, I thought I would just ask a question too.  Thank you.

Since you are going to be moving them off, what is the feasibility of these assets?  Like, are they ever going to come into use again?  Like, is it a position in Bluewater's service area that these assets would never be used again, or is there a chance that they could be brought back to use?  Like, it's not like -- like, UBE is not, like, ploughing down its facility, is it?

MR. HUTSON:  No.

MR. PALIMAKA:  We don't know what UBE plans to do with its facility.  We have divided the asset into two categories.  First would be the stranded assets.  That includes the underground, which goes from Blackwell Sideroad, at the property boundary for UBE, into UBE.  There's a primary transformer, which we own, but it is used and useful.  That will be removed from the facility, and we will use it elsewhere in our service territory.

The secondary transformers, there is our set of secondary transformers that are specific to UBE, likely not to be reusable with another customer, so those are included in the stranded assets.

So the primary transformer is used and useful, will be used elsewhere in our system.  Then the remaining portion of the non-stranded assets would be the main feeder coming out of the Modeland TS all the way to the property boundary for UBE.

MS. DADE:  But in time you could possibly have another customer move in that facility.

MR. TAYLOR:  Could I interrupt for just a moment?  This is a sensitive topic, and the reason is that Bluewater is going to be in negotiations with UBE to recover, and what transpires in this proceeding, in this discussion here, could be reviewed by UBE and could ultimately influence UBE's position in its negotiations with Bluewater Power.

So that's why Bluewater Power has proposed that these assets be removed from the books so that any risk of recovery is shifted away from the ratepayer.  And they can continue with their negotiations with UBE completely separate and apart from this proceeding.

So based on the proposed solution that we have here today, I don't really think it's necessary, number one, or relevant to proceed along this path.  And number two, I think we are potentially jeopardizing Bluewater Power.  So I would request that we move on.


MR. SHEPHERD:  I wonder if I could suggest that -- I agree with Mr. Taylor that there is some sensitivity here, and I wonder if we could discuss this at the break before we have any more questions on the subject.

MS. SEBALJ:  I think that is a good suggestion.  I don't know where that leaves us, in terms of the last question -- or, sorry, the last question that I read into the record.  I am trying to determine whether -- I think (c) and (d) have been dealt with adequately for now.  E...  I don't think there is any issue with answering (e), is there?

MR. TODD:  E is probably just worth a clarification that there is a difference in numbers, because the one number is from the cost allocation study.  The cost allocation study is a revised version of the 2006 cost allocation study.  The 2006 cost allocation study was using 2004 numbers, so we are talking 2004 numbers there, whereas in the 422,000 number is '09 numbers.

MS. SEBALJ:  That's fine.  Thank you.


MR. HARPER:  Could I just ask one follow-up on that before we leave it, because I think it goes on, and actually -- sorry, I was jumping forward and looking at the table that Bluewater provided.  It was table 5 in response to VECC 2(a), which actually set out the net book values for these assets for both 2004 and 2009.

And I guess I was expecting -- I was expecting to see the 573,700, which was based on 2004 data, to sort of reconcile with the 2004 column here, which it didn't, and I guess -- so I just -- either now or subsequently, if maybe you could just clarify that point, that would be great.

MR. TODD:  We knew we could count on you, Bill.

The 573 was a misunderstanding of mine.  That is the beginning-of-year number.  The 550 is the end-of-year number.  And I used the beginning-of-year number by mistake --

MR. HARPER:  Okay.  Thanks.

MR. TODD:  -- and that is why it appears in the cost allocation study.

MS. SEBALJ:  So question 4 from Board Staff, same general reference, page 11 of the update to the application, as well as Exhibit 5, tab 1, schedule 1, page 1 of the application, the Accounting Procedures Handbook, page 30, the 2000 Electricity Distribution Rate Handbook, page 5-5.

So question 4.1:

"On page 1 of Exhibit 5, tab 1, schedule 1, filed on September 8, 2008, Bluewater had proposed a three-year disposition of the balance in accounts 1588, 1584, 1586, 1580, 1508, 1525, and 1550.  Bluewater had stated that the three-year time frame was selected 'in order to maintain rate stability over the term of the incentive rate mechanism plan.'  In its proposal filed on February 2nd, 2009, Bluewater now proposes to dispose the balance in the accounts over a two-year period.  Please comment on this proposal with respect to rate stability over the term of the incentive rate mechanism plan."


MR. PALIMAKA:  That's something we haven't discussed much this morning, is the fact that we recognize that our proposal, although it is no net negative impact on customers because of our use of the deferral account, there is a cash impact on our customers.  We will effectively be over-collecting while UBE and Royal Polymers remain open.

So in recognition of that cash impact, we proposed a mitigation plan, which was to speed up the disposition of our deferral accounts from a three-year period to a two-year period.

In answer to an interrogatory from CME No. 3, I believe, we provided the detailed response to what is underlying this question, but before we get into those details -- and perhaps we can leave the details for later. But before we get into the details, there is an overriding issue here, which is, I don't -- we can't predict the future, and the fact that we are today trying to solve a -- we are trying to mitigate a rate increase shouldn't argue for -- we will have opportunities -- sorry, it will create a rate impact in two years.


We will have an opportunity, we believe, to address that rate impact in two years.  Whether that be through a further disposition of our deferral accounts -- we have proposed to dispose of our deferral accounts from the year ending December 31, 2007, so there will be an opportunity to perhaps make a proposal to dispose of those deferral accounts that remain.  There will also be deferral accounts created because of the proposal that we put forward.


So what we urge the Board is the fact -- the possibility of a rate impact in two years should be no reason to look at our mitigation plan.  We would propose that there will be opportunities within the next two years to address that impact, as well.

MS. SEBALJ:  Thank you.  The next and last question is with respect to the proposed use of account 1572:
"On page 11 of Exhibit 1, tab 1, schedule 3.1, Bluewater proposes to utilize the uniform system of accounts, account number 1572, to capture any actual net distribution margin realized by Bluewater Power from either Royal or UBE.  The Accounting Procedures Handbook states that 1572, extraordinary event costs, shall be used to record extraordinary event costs that meet the qualifying criteria established in the 2000 Electricity Distribution Rate Handbook.  The criteria are causation, materiality, inability of management to control and prudence.  Please comment on Bluewater's proposal with respect to use of account 1572 and the qualifying criteria."

MR. PALIMAKA:  We've proposed to use account 1572 even though it's called extraordinary event costs, and if you read the language, it seems to speak to being eligible to include only extraordinary costs.


What we have proposed, effectively, however, is that in our proposal we are avoiding a lost revenue, so that what we're actually looking to put into account 1572 is the -- for lack of a better word, the windfall revenue.


So it's a bit of an unusual use of account 1572.  We acknowledge that.  We treat 1572 more as an extraordinary event deferral account as opposed to an extraordinary event cost deferral account.


We believe that what we are proposing, it would be -- it's in the same family of issues that this account was intended to deal with, although it might not meet the technical definition.

With respect to -- so in that way, it is difficult to answer the question, but we can speak to materiality, causation and the other criteria, if you would like.

MS. SEBALJ:  Sure.

MR. PALIMAKA:  Okay.  Why would I ask?  In terms of causation, the cause is our proposal.  So we have put forward a proposal to solve a challenge that we face today.  The fact that we have windfall revenues from these customers is the cause of the need to put those revenues into the account.


Materiality, the threshold is 0.5 percent of distribution revenue requirement, which in our case would equate to approximately $103,000.  We cannot say today how much revenue will actually end up going into that deferral account.  That's an unknown.  If UBE is open for twelve months, twelve months' worth of revenue will go into that account.  If Royal Polymers is open for twelve months, twelve months of revenue will go into that account.

So I will answer that question in that way and assume that twelve months of revenue go into that deferral account.  In the case of UBE, the dollars would be approximately $400,000.


In the case of Royal Polymers, you have to back up a little bit and remember that our original proposal was to already reduce Royal Polymers, so that if we hadn't already made that proposal, the net impact, the lost revenue that we are seeking to avoid through our update from the beginning of time, is approximately $132,000.  So both dollar amounts meet the materiality threshold.

Inability of management to control, these are both caused by global economic conditions well beyond our control.  UBE, in particular, is part of the automotive sector, which we all know is hit significantly.  Royal Polymers, in particular, was impacted by the downturn in the US housing market.  Those are beyond our control.

Prudence, well, we would put forward that the solution we have put forward is the most cost-effective way to deal with this challenge compared to the alternatives, one alternative being to seek rebasing after these customers close.  That would cost our -- that would be a significant drain on our internal resources.

It would also cost us significantly, again, in terms of regulatory assistance and legal assistance, to file the rebasing application.  Those costs would ultimately be recovered from our customers, so, in that sense, compared to that alternative, certainly what we put forward is a more prudent option.

Compared to the alternative of a Z factor, as we said in our introduction, the impact on our customers is less with the proposal that we put forward.  We will be -- by dealing with this ahead of time and setting our base rates to be the right rates for the IRM period, we are reducing the impact on our customers to the tune of $116,000 in revenue requirement.


So for that reason, we would also propose that our proposal meets the prudent test.

MR. TAYLOR:  If I could just add something, as well?  There is no magic to account 1572.  If the Board feels there is another account that is more appropriate for this purpose, then would be fine.  The idea is that we want to track the revenues from these two customers so that we can return those revenues to the customers.


If there is another account that will do that, that is just fine.

MR. PALIMAKA:  That's correct.  We thought that this account was within the family of appropriate accounts, but if there is a more appropriate deferral account, we would be open to that, absolutely.

MS. SEBALJ:  Thank you.  Those are all the Board's questions.  I am getting a hand signal from Mr. Taylor.  Is this a good time for people to take a break?  Yes.  Let's take a break until ten to, something like that, ten to, five to.

--- Recess at 10:38 a.m.

 SEQ CHAPTER \h \r 1
--- Upon resuming at 10:58 a.m.

MS. SEBALJ:  All right.  Let's get started -- or let's resume.  I am trying to go by process of elimination here.  Bill, are you...?  You're prepared...?

MR. HARPER:  I am perfectly willing to go next.

MS. SEBALJ:  That is fine.
Questions by Mr. Harper:


MR. HARPER:  That is fine.  And I guess -- I don't know how we want to proceed, because I can follow the same format as Board Staff and read the questions into the record.  In many cases we may find you have already answered them, based on the answers to Board Staff, but we can just put a tick mark beside it then and perhaps move on if that's the best way to do it.

So I'd start off with question number 1.  And really, what I will do is, I will read all the parts, and then maybe you can respond to them individually if there is still anything more you want to add.

The first one says:

"Please confirm that Royal was permanently shut down as of January 1st, 2009.  If not, please indicate when it did or is expected to shut down permanently."


Part (b) says:

"Please confirm, per appendix B, that UBE is expected to operate for at least the first half of 2009."


And part C is:

"Why would it not be more reasonable to assume some operation of these facilities in 2009 and establish a variance account to address any variations in the distribution revenues?"


Now, I think in your comments at the start you've responded to parts A and B, and I don't know whether you want to add anything further on part C.

MR. PALIMAKA:  I would suggest we answered C as well, but let's start over, and that's fine.

As we have addressed, our proposal is to get base rates correct for the third -- sorry, is that better?  Our proposal is to establish base rates as the right rates for the third-generation incentive rate-making period, so to that extent our approach has been to assume that these customers are gone and that any revenue that we recover from them will go into the deferral account.

What you have suggested is a possibility, but we would submit that our proposal is more fair to the utility, to the extent it creates greater certainty, and more fair to the customers, to the extent that it in fact reduces revenue requirement, as I have outlined earlier.


MR. HARPER:  Okay.  With respect to question 2, there were three parts again.  And part (a) was:  Please describe specifically what types of facilities were associated with the $1,541,173 in net fixed assets that were considered in the cost allocation run to serve only UBE.

Part B was:  Please also explain how Bluewater established that all but 639,687 of this can be redeployed to service other customers.  And part C we will pass on.  I think we have had some discussions during the break, and we will leave part C off.


MR. PALIMAKA:  Okay.

MR. HARPER:  And again, I think to some extent, to my point -- well, go ahead.


MR. PALIMAKA:  Okay.  In the package of documents that we have produced, TC-1, table 5 provides the answer to 2(a).  And we have talked about this table a bit already, so I don't know if there are any further questions.  It might be more helpful for me to answer now question B, and I can address some of the issues that are outlined in table 5.

The $639,000 is specific to the underground connection from UBE's property boundary to the primary transformer.  The primary transformer then is considered to be used and useful.  It will be used elsewhere in our facility.  And the secondary transformers are also considered to be stranded assets.

So that's how we figured out that those $639,000 worth of facilities, that is their -- that was their original value.  Their net book value is approximately $422,000.  That leaves the remaining feeder from the Modeland TS to UBE's property boundary.

The Modeland feeder is has no more capacity for any other feeders.  We will be looking at an upgrade -- a significant upgrade to that facility at some point in the next five to ten years.  Until that time we will not be able to provide an additional feeder into our high-growth areas.

The feeder that comes out of Modeland TS and goes to UBE dissects right through our residential growth area and goes through what is known as development area number 1, arrives at UBE, where it also at that point intersects the 96M23 feeder, which comes out of Modeland and travels -- dissects our high-growth commercial areas.

So those two feeders together traverse all of our high-growth areas from commercial to residential.  They will be able to -- once UBE is closed, those two feeders will be able to tie together to create a looped system for our high-growth areas.

Having the UBE feeder will allow us to avoid band aid solutions prior to the Modeland TS -- prior to being in a position to build further feeders out of the Modeland TS.  Right now, development area 1 is being served to the best way possible, but if the UBE feeder was available we would spend -- and I guess -- I think I am getting into the next question, but we would spend -- we would spend some dollars to connect customers to that feeder immediately, and we would immediately spend money to connect those two feeders together.

And that will allow us to avoid band aid solutions in the short-term, and it will allow us to delay an expansion of the Modeland TS, and it will allow us to avoid an expenditure of approximately $1.2 million to provide a feeder into development area number 1.


MR. HARPER:  Okay.  Thank you.

Question number 3 had two parts as well, and part (a) was:

"With respect to table 9"

-- and that was table 9 in the update, on page 8:

"and in light of the load forecast change, did Bluewater undertake a review of either its proposed 2009 OM&A or capital spending to determine if reductions could be made to offset the impact?  If yes, please provide copies of any reports dealing with the results of the review."


And part (b) was:

"Please explain why the hundred basis-point variation in ROE should be considered significant when the OEB has established a 300-basis-point threshold for off-ramps to the third-generation IRM."


MR. PALIMAKA:  Again, with respect to 3(a), in preparation of our 2009 filing we obviously undertook a significant and -- undertook a significant review of our OM&A, so we have a solid foundation for what it costs us to run our system.

There is nothing that we can see with the closure of UBE that would impact the OM&A.  We have discussed the possibility of avoiding a $5,000 cost in oil sampling, but that would be the only impact on the OM&A that we proposed in the 2009 rebasing.

In terms of the capital budget, there would be no impact, and certainly no impact in the 2009 capital budget, as I have suggested in my answer to the previous question.  There would be savings down the road.  It will delay the expansion of Modeland, and it will avoid a $1.2 million feeder out of Modeland.

In the short term, on the capital side, it will in fact increase our capital spending for 2009 to a small extent.  We will spend approximately $10,000 to tie those two feeders together as soon as we are able to do that, and we will spend approximately $500 to connect some customers that we determine are urgent, that we should be feeding them directly from the UBE feeder, we will call it.  So it will in fact increase our capital budget to a small extent, to the tune of approximately $10,500.

MR. HARPER:  I guess maybe the point of the question wasn't really as much a matter of, what specifically are the impacts on either your capital spending or your OM&A of, you know, of not having to maintain these specific facilities.  It was more a matter of, I guess, is if you have positioned this as a fairly major impact, that is why you are wanting to update the load forecast, a fairly major impact on the outlook for 2009, in terms of what your revenues would be, and I guess the question was, in light of that change and what's viewed as being a, from your perspective, a material impact on the company, sort of, you know, in colloquial terms, was there an effort to go back and sharpen your pencils one more time and see whether in other places OM&A could be reduced or capital spending could be reduced in order to help bring back into balance revenues and costs.  Let's put it that way.

MR. PALIMAKA:  I guess that would go back to the first part of my answer, which is we have done a thorough job of determining what it is going to take us to run our system in 2009, and there is nothing with the loss of UBE that will allow us to make any cuts.  The feeder will be fully utilized.  It will be utilized for other purposes.  So there is no reason to think that we will have an opportunity to reduce our O&M.

MR. HARPER:  I am sure we will have more discussion on this tomorrow, but I understand your position.  That's fine.  And maybe did you have any comments on part (b)?

MR. PALIMAKA:  There is two parts to our answer.  First off, we are not -- we don't acknowledge that the 300-basis-point threshold is necessarily a valid threshold to be applied.  That is a guideline that's been put forward by OEB Staff.  Its mechanistic application by a subsequent OEB panel would not necessarily take place.  It would be subject to challenge.


So I guess the first part of our answer is we don't accept necessarily that a 300-basis-point impact is the magic number of a threshold at which the Board will allow an offramp.


If we were to come back to the Board in two years' time and be able to demonstrate that due to these economic circumstances and due to subsequent economic circumstances that we were facing a 200-basis-point impact to our ROE, we don't think that a guideline would necessarily prohibit us from filing a rebasing application.  That is the first answer to the question.

The second answer is we would propose that the more appropriate comparator for what we are proposing is a Z factor.  What we are proposing is a proposal to deal with an extraordinary event; not an extraordinary event cost, but it is an extraordinary event.  In that case, it is akin to a Z factor, whether the threshold is 0.5 of distribution revenue or $105,000.  And, clearly, we have surpassed that threshold.

MR. HARPER:  Maybe just to follow up from that, you would surpass that threshold for -- if you surpass that threshold, let's say, in -- if you put Royal and UBE in at what is their expected operation in 2009, I think it's your contention that you would surpass that threshold in 2010, if they ceased operation in 2010?

MR. PALIMAKA:  Sorry, just so I understand your question, if we were to update the 2009 forecast to include UBE and Royal, which we have argued it wouldn't be appropriate?

MR. HARPER:  Yes.

MR. PALIMAKA:  But assuming that is what is ultimately ordered by the Board, then in that case the impact of lost revenue, which we would argue is appropriately put into a Z factor, certainly in total would be -- the total would be $250,000, so it would surpass the Z factor threshold.

If the Board chose to look at each customer individually, the impact of the loss of UBE in that scenario would certainly surpass the threshold.  I would have to get back to you as to an exact number, but it would certainly exceed $105,000.  And Royal Polymers likely would not exceed that threshold, but certainly together they would exceed the Z factor threshold.

MR. HARPER:  If we were to follow that sort of train of thought through, there would be nothing stopping you in 2010 on that basis to apply for a Z factor adjustment, would there?

MR. PALIMAKA:  Well, on a plain reading of the rules, a loss of revenue does not seem to fit a Z factor.  We believe that is wrong, but on a plain reading of the rules, it does not seem to permit that.

MR. HARPER:  Okay.

MR. TODD:  Let me clarify, Bill, because applying for a Z factor in third generation IRM was one of the options looked at, right, and it is identified on page 9.


Now, of course, the context of that was relative to the original application.  So the loss relative to the original application is the full load of UBE and the reduced but, you know, remaining load of Royal, which would have -- which would pass the threshold.

So if the starting point is the original application, then you are well within the Z factor limits, and it is ambiguous as to whether an extraordinary event that is a loss of revenue would qualify -- you would probably be contested.


However, if you look at the logic of it, a transformer station catches fire, is destroyed, that's clearly a cost.  A plant next door, customer plant, is destroyed in the same way, the company loses revenue, suddenly, logically, that's not a Z factor, when it has the same impact on a company, or a customer leaves, which is the equivalent to the kind of damage we are seeing with extraordinary events today, it would be illogical to exclude that, given the impact on the customers.  But that would be subject to the Board's determination at a future time.

MR. SHEPHERD:  I am of course not up on every decision, but hasn't the Board already decided in both Milton and Oakville, I think, that a loss of load is a Z factor?  Does anybody know at Board Staff?  I thought that had already been determined.

MS. SEBALJ:  Apparently we don't know, but we will find out.

MR. SHEPHERD:  Thanks.

MR. HARPER:  I am glad we are spreading the homework around.

MS. SEBALJ:  That's not an undertaking.

MR. TODD:  Are you referring to third generation IRM specifically, or prior to third generation?

MR. SHEPHERD:  I think there were both.

MR. TODD:  There may be a difference.

MR. SHEPHERD:  I think there were both, too, but I think that the test is the same in both, in this context.  But, anyway, I just think it is worth clarifying.

MR. TODD:  Yes, and there is a lot --

MR. HARPER:  Maybe we can move on to question 4.  I think I understand your responses with respect to 3.  And 4 had two parts, as well.  The first part:
"Please confirm that the proposed deferral account will capture any revenue shortfall."

And I probably should have said:  Revenue gain associated with the loss of Royal until the next rebasing.
"If not, please clarify what revenue shortfalls will be accrued in the account."

I think I understand from the comments you have been making to date that basically what you are saying is it is - maybe you can confirm.  It's the distribution margin associated with both UBE and Royal from the January 1st, 2009 to the point where they both if effectively close their doors and the meter reads zero?

MR. HUTSON:  That is correct.  That is the intention of the deferral account.  Our proposal is based on their load being completely removed, so any revenues we do collect in 2009 would go to the deferral account to be given back to customers at a later date.

MR. PALIMAKA:  Again, I guess the important point being there it is commencing January 1, 2009, and it would be all revenues collected from UBE and Royal net of any direct costs.

MR. HARPER:  Maybe you can help clarify what you mean by "direct costs".

MR. PALIMAKA:  One example would be if we had already done the oil sampling for UBE in 2009, that we would net off those costs, estimated at $5,000, from any recovery.

MR. HARPER:  But outside of things like cost of power and things like that, or flow-throughs, that is the only type of direct cost that you could see being attributable to impacting on your distribution margin, then?

MR. HUTSON:  That is correct.

MR. HARPER:  We are just trying to explore this issue a bit further, and part (b) says:
"In light of Bluewater's request for a deferral account, what is Bluewater's view as to the approach that should be taken in the event a new customer or the expansion of existing customer adds significant load to its service area during the third generation IRM period?  Should these revenues be captured in a deferral account, as well?"

MR. PALIMAKA:  I think John Todd has spoken to this issue earlier, and there is a difference between a forecast and a known event.  What we are talking about are two known events, the known closure of these customers.

MR. TODD:  There is no proposal to have future closures going to deferral account.  I mean, future events are at the company's risk either way.

MR. HARPER:  Either way.  Okay, that fine.

Question 5 was really just asking for updates to some of the interrogatories responses that have been filed previously based on the updated load forecast information, and I will just read them, and maybe you can address to the extent you responded to them.
"Please provide a copy of the '01 and '02 output sheets consistent with the results set out in table 13."


That was table 13 on page 13 of the February update.  And part (b) was:

Please provide an update to VECC 30(c) based on the February 2nd, 2009 revised cost allocation run."


And that was an update with the transformer ownership revenue and costs removed from the run.


MS. DUGAS:  The response to question 5(a) is provided in your table of handouts.  It is listed as table 6, sheet 01 and sheet 02.  And those results are consistent with what is filed in table 13 of the February 2nd update.

The response to part (b) is found in table 7 of the package of handouts.  And that's a cost allocation model where both customers are removed, and it has the same assumptions as in the original response to VECC number 30(c), which is removing the transformer allowance.


MR. HARPER:  Okay.  And actually -- and maybe I can just ask a follow-up to that, and maybe you can get back to me after you have listened to other people if you want to think about it a bit and check if my arithmetic is correct.

But I was comparing the results in table 6 and table 7, and to my calculations -- again, it may be my math -- really what this shows is that you removed roughly $594,268 attributed to the transformer ownership costs, where if I look at the response you gave in table 8, which is a question we will be coming to shortly, the actual costs attributed to the transformer ownership allowance in 2009 is $543,581.

So maybe I can just leave that with you, and if you want to get back to me, and if there is an explanation for the difference, that would be great.

MS. DUGAS:  UBE does not own their own transformer, so therefore there is no transformer credit applicable to them.  So the amount that was removed from table 7 is the full amount of all transformer allowance.  That's the $594,000.

MR. HARPER:  Okay.


MS. DUGAS:  Whereas the table 8, where you have requested the update to the transformer allowance, in the intermediate rate class it would only remove approximately 26,000 kW from the allowance amount for each year.

MR. HARPER:  And why wouldn't it remove the balance of it, if it was trying -- I thought table 8 -- and excuse me if I am being a bit slow here -- I thought table 8 showed the full transformer allowance costs for 2009.

MS. DUGAS:  I see.  I see.

MR. HARPER:  And I thought table 7 was supposed to be removing the full cost of the transformer ownership allowance for 2009.

MS. DUGAS:  I will have to get back to you on that.

MR. HARPER:  Okay.  Thank you.

And maybe -- and actually, I think question 6, which we were just talking on briefly, said:

"Please update the information provided in the original VECC 13(a) and 13(a) regarding the 2009 transformer ownership allowance based on the updated load forecast."


And part (b) was:

"Please update the information regarding the amount and allocation of the LV costs for 2009 based on the updated load forecast."


MS. DUGAS:  So table 8 in the package of handouts reflects the change to the Royal Polymers dropping off in the intermediate rate class.  So therefore, the transformer allowance has been reduced by the approximate 26,000 kW.

MR. HARPER:  Thank you.


MS. DUGAS:  Part (b), regarding the LV charges, that's provided in table 9.  The amount of LV charges are not expected to decrease as a result of UBE and Royal closing.  They are not connected to the Hydro One LV system.

So the only change is a slight variation on the allocators, which is a result of the transmission connection revenues, which are used as a proxy to determine how much LV charges are allocated to each rate class.


MR. HARPER:  Great.  I am glad you added that little bit, because that was a question I was going to ask, was why the 189,000 hadn't gone down, but I think you have clarified that for me.  That's great.

Number 7 was also asking for an update to an original IR that had been filed in the first round, VECC 34(a), and again, an update based on the load forecast.  And this was basically showing the projected revenues at current rates based on the updated load forecast.


MS. DUGAS:  So the response to that is provided in table 10 of the package, whereby the amount of LV and transformer allowance is removed in order to determine the fixed and variable percentages by rate class without those components.

MR. HARPER:  Thank you.

And question 8 was, as you'd said, since the updated load forecast changed the loads for the intermediate and the large-use classes, it wasn't clear to me in reading through the update whether the fixed variable splits for the intermediate and large-use classes had been updated based on the new load forecast or whether, in setting the rates for those classes, you'd use the fixed variable splits as established in the original filing.

MS. DUGAS:  That is correct.  We have maintained the same fixed variable splits throughout this application.

MR. HARPER:  Okay.  Thank you.

And finally, question 9 was asking:

"Under Bluewater's proposal, customers will experience an increase in bills in 2011, when the two-year disposition rate rider is removed.  Based on the proposed 2009 rates, please indicate the impact on a typical residential customer when the proposed rate rider is removed."


MS. DUGAS:  The response is indicated in table 11.  For an average residential customer at the end of 2011 they would experience about a 1.3 percent increase when the deferral disposition ceases.

MR. HARPER:  Okay.  Thank you.  Fine, thank you.

MS. SEBALJ:  David, are you ready to go?
Questions by Ms. Dade:


MS. DADE:  Thank you very much.  I think we will do the same, where we will go back and start with the questions so they are into -- so they can be recorded, and we will start with our first question -- or first IR.  Let me just go back here...

Interrogatory 1, Exhibit 1, tab 1, schedule 3.1, page 7 of 19, paragraph 2.  I believe that Bluewater has actually addressed this question and previous questions from other intervenors, so if you are okay with that, I think we can -- we will move on to the next question.


MR. PALIMAKA:  Perfect.  Thank you.

MS. DADE:  Is Bluewater comfortable with that?

MR. PALIMAKA:  Yes.

MS. DADE:  Okay.  In Interrogatory 2 we have asked -- Exhibit 1, tab 1, schedule 3.1, page 11 of 19, table 10.  Again, I believe that Bluewater has addressed this.  I would actually like to go, just to sort of look at number B on this one:

"What about the avoided costs associated with the loss of revenue?"


Bluewater has addressed that with the comment that there is a $5,000 adjustment to those costs.  I would just like to put it out there that the question then begs itself, what about the associated costs with all large users, if we can assume one.  UBE is only a $5,000 loss in an O&M cost.  Does that roll out to the rest of the balance of the large-user class?  It seems kind of disproportionate that you lose a big customer and there is very little costs that are avoid -- or reduce your actual physical costs of maintaining that customer class.  I could almost say or ask then, if it is only $5,000 for Bluewater, it has got to be only 5,000 for the rest of them.

MR. PALIMAKA:  I will let John speak to it.  He is our expert on the issue, but there is an important difference between an avoided cost and a cost for cost allocation purposes.  When we provided a figure of $5,000, we were looking at a direct avoidable cost due to their closure.


If you want to hear anything further on cost allocation theory, I am sure John would be happy to add to that.

MS. DADE:  Okay.

MR. TODD:  Alex has proved me redundant, because he has said all I can say, unless you have a follow-up question on it.

MS. DADE:  I will probably follow up.  I am going to go to -- I may come back to that on a couple of other things.  On interrogatory 3, you provided the bill change for Bluewater customers in 2009 from the current rates in 2008 without the rate riders, and I appreciate that.

I can see the total bill change and you have marked it down, and for the large use customer class, you have 4.087 percent.  Again, the comment back from Bluewater, my first IR, was that the Board accepts a 10 percent ceiling on that, and I would argue that 4 percent for this customer base is still way too high.

But if I could just ask something, maybe I didn't read this right.  If I can go back to VECC's table, table 11, "Impact when the proposed rate rider is removed on the residential side", it has a 1.3 percent on the residential, and on this one it says 7.06 percent.

MS. DUGAS:  Table 11 shows the impact when the rate rider drops off in 2011, whereas table 12 in your handout, which is the response to AMPCO's interrogatory 3, shows the bill impact currently if there were to be no rate riders.  So there are two different issues there.

MS. DADE:  Although I am assuming that when the rate rider is removed in 2011, it would be almost the same impact as what would happen without the rate rider right now.

MS. DUGAS:  No, the bill impacts currently would incorporate our entire rebasing application increases.  So, therefore, they would already be in the rates for 2009 and '10.  So when the rate rider, which is just a small variable component, drops off in 2011, you will see a much smaller rate increase at that time.

MS. DADE:  Okay.  I just thought just sort of the transfer looked a little bit different for me there.


In interrogatory 4, I have asked Bluewater the economical impact to the customer - and we have briefly talked about that - of 4 percent.  Does Bluewater not feel that that is a big economic impact to that customer base?

MR. TAYLOR:  Christine, you clarify the question when you say it's a big economic impact?

MS. DADE:  Who is that?

MR. TAYLOR:  It's Andrew.

MS. DADE:  Sure, sorry.  Four percent for that size of a customer is, in dollar values, almost about $200,000 a year, if we take it on an average bill change.  I think that 4 percent is -- when you look at an industry size type of consumer, 4 percent is a big increase.

MR. TAYLOR:  I am just wondering, though, if this is not better suited for argument than a technical conference.

MS. DADE:  Okay, I can let it be.  All right.  So we are going to go to Interrogatory No. 5.  Has Bluewater considered that UBE and Royal should be refunded their portion of the deferral variance account when they close as a one-time payout?

MR. PALIMAKA:  That would be contrary to conventional practice.  Deferral accounts are disposed of on a prospective basis, and we are not aware of any mechanism where that would be possible and we are not aware of any precedent where the Board has ordered that in the past.

MS. DADE:  But considering that there is a substantial amount in those deferral and variance accounts, in that Bluewater has been over collecting significantly from this customer base, the question was:  Have you considered that?

MR. PALIMAKA:  No, we expect that the customer may consider that and may bring that forward, but we have not considered that.

MS. DADE:  Okay.  And in interrogatory 6, has Bluewater contacted the actual amount that UBE and Royal would have contributed to the credit and the deferral and variance accounts?

MR. PALIMAKA:  We haven't done the calculation, no.

MS. DADE:  And during 2009, when UBE and Royal are planning to shut down, does Bluewater plan to accrue the rate rider back to the same deferral or variance account?


You stated earlier that it was going to be the net revenue that going to go to, say, account 1572.  That advises me it's the distribution revenue plus the rate rider revenue, which would be net.  What would be Bluewater's intent; to take the rate rider revenue or credit back to the same deferral account and take the actual revenue, the distribution revenue, to the variance account?

MR. HUTSON:  That is correct.  It's -- the total distribution revenues that we would collect from UBE and Royal would go into account 1572, and then the moneys that are in that account owing back to ratepayers would get disbursed at a later date, not necessarily to UBE or Royal.  Is that what you are asking?

MS. DADE:  No, no, because then you are saying that the rate rider portion of it, of UBE and Royal's bills for the 2009, would go back to that deferral and various account that you are currently clearing out.

MR. HUTSON:  Account 1572, correct.

MS. DADE:  And then the actual revenue, distribution revenue, isolated goes into a separate account?

MR. HUTSON:  They are both in account 1572.

MS. DADE:  Oh, they are both in account 1572.

MR. HARPER:  Can I maybe help?  I think maybe I can help, Christine.

MS. DADE:  Please.

MR. HARPER:  I think the point Christine is trying to get at is I believe, currently, the rate schedules for these two customers include both distribution charges, as well as there are currently rate riders to clear out -- to recover or refund and recover previous regulatory assets, are there not?

MR. HUTSON:  These...


MS. DUGAS:  That's the proposal.

MR. HARPER:  So but right now, UBE and Royal are paying distribution rates.  They are also paying rate riders that help dispose of existing regulatory assets that have been transferred to 1590, or are there no rate riders right now?

MS. DUGAS:  There are no current rate riders.

MR. HARPER:  Okay, that is fine, because I thought maybe Christine was trying to say, if there were rate riders and revenues or credits generated from that, were they going to be credited back to the proper -- but if there are no rate riders right now, all you are gaining from these customers is strict, pure distribution revenue each month?

MS. DUGAS:  That's correct.

MS. DADE:  But the proposal is a credit rate rider, though.

MS. DUGAS:  The proposal going forward in our original application, we have requested to dispose of about $3.9 million of regulatory costs, which would commence once these rates become effective.  So that amount of what's related to the rate rider would go back to account 1572, in our proposal, as net distribution margin.

MS. DADE:  Okay.  Along with distribution revenues that are generated?

MS. DUGAS:  Yes.

MS. DADE:  Just as a follow-up question, and I can appreciate the fact that there isn't precedent, but has Bluewater considered the almost $4 million sitting in the credit and in the deferral account as a one-time payment to its customer base across the board?

MR. HUTSON:  One-time payment or over one year?

MS. DADE:  Either way.

MR. PALIMAKA:  We wouldn't have considered a one-time payment, no.  We have proposed in our original rate application a three-year disbursal of the deferral account.  We have subsequently, as part of this update, proposed a two-year.  I don't know that we would consider a one-time.

MR. HUTSON:  There would be significant cash impacts.  We would have to really look at that.

MS. DADE:  Okay, but the fact is that Bluewater has collected that cash.

MR. HUTSON:  Hm-hmm.

MS. DADE:  And it's not an unfunded liability?

MR. HUTSON:  No.

MS. DADE:  Okay, thank you.

MS. SEBALJ:  Are you through?

MS. DADE:  I am.  Thank you.

MS. SEBALJ:  You are ready to go, Jay?
Questions by Mr. Shepherd:

MR. SHEPHERD:  I am, thanks, and I will tell you when I am finished.  Let me start by just clearing up a couple of things.  In your discussion with Mr. Harper, you said the deferral account you are proposing would be revenues net of any direct costs.  I assume that doesn't include the -- a portion of the amortization or the return on rate base for the period in which the assets continue to be used and useful?

MR. HUTSON:  That's correct.  That's already been reflected as a reduction of the revenue requirement.  Table 10, I think, we discuss that at the start.

MR. SHEPHERD:  No, no, that's not the question I am asking.  I understand that what you are proposing is to pretend that, starting January 1st, the assets involved in this, the OM&A involved in this, and the revenues are out.  It's as if the customers just fall off the customer list on January 1st, right?

MR. HUTSON:  Correct.

MR. SHEPHERD:  Okay.  So -- but then you are proposing a deferral account to track the impact in 2009 of the fact that they will in fact be there, right?

MR. HUTSON:  Correct.

MR. SHEPHERD:  And that impact will include the revenues.

MR. HUTSON:  That's correct.  1572 could capture that.

MR. SHEPHERD:  And any OM&A costs associated with serving those customers.

MR. HUTSON:  Correct.

MR. SHEPHERD:  And will it also include a portion of the amortization of the assets to serve those customers or a portion of the cost of capital or PILs to serve those customers?

MR. HUTSON:  The amortization, no, because that journal entry that we talked about earlier, that entry would be made at January 1st, so any amortization on those non-utility-owned assets now would go to a non-utility account, any amortization expense.  So that would be completely outside of rate-making.

MR. SHEPHERD:  So you wouldn't calculate that as a revenue-requirement impact during the year.

MR. HUTSON:  No, because it's already out of rate base.

MR. SHEPHERD:  And similarly with cost of debt or a return on equity?

MR. HUTSON:  Correct.  That would be out of rate base as well.

MR. SHEPHERD:  And what about PILs?

MR. HUTSON:  Correct.  That would be out of rate base -- or out of the revenue requirement as well.

MR. SHEPHERD:  Okay.  Now, that I don't understand, because if you are recording the revenues, aren't they taxable?

MR. HUTSON:  Yes, but I think -- maybe I am not following you, but in table 10, page 11 of 19 -- this table -- I think this is -- correct me if I am wrong.  Is this the table that your questions are addressing?

MR. SHEPHERD:  No, I am not talking about this at all.

MR. HUTSON:  Okay.

MR. SHEPHERD:  What I am talking about is what goes into the deferral account.  When -- the first proposal you made about the deferral account was, you'd record the revenues received from these customers.  That is nice and simple.  Now you are saying, and the cost to serve them.

MR. HUTSON:  Correct.

MR. SHEPHERD:  So normally the cost to serve them would include a whole lot of things, and I am trying to figure out which cost to serve them you propose to record in this account.

MR. TODD:  The intent of the statement, Jay, is that there would not be any, should we say allocated costs.  Like, if there is -- if there is a direct cost, such as, there is facilities there and there is something required -- like, you know, the concept could be -- I think the example I came up with, we said, do we even need it?

The concept would be, the deferral account is set up to carry on, just in case there is a fortuitous circumstance where somebody comes and reconnects.  Somebody could come in and reconnect.  One hundred percent of those distribution revenues would go into the account, but that new customer may need a different transformer than UBE did, because the UBE secondary transformer is actually very, very unique to their requirements.

So if there were some direct costs, direct, out-of-pocket, incremental costs, associated with those revenues, those would offset the collection revenue's deferral account.  That is all that was meant to say.  Now, if you don't like the wording, you know, that can be clarified.

MR. SHEPHERD:  Well, now I am more confused than I was a minute ago, because I was actually asking about revenues from UBE and Royal Polymers, and you are now talking about revenues from someone else.

MR. TODD:  Those facilities.  Well, one of the questions that has been raised is, what happens if that UBE plant actually reopens next year, UBE or somebody else?

MR. SHEPHERD:  Okay.  But Mr. Todd, can we just take this in bite-sized chunks?  Let's first deal with the impact of revenues from Royal Polymers and UBE, which presumably is only going to be UBE, right?  Royal Polymers is already closed.

MR. PALIMAKA:  No, they are not closed.  They have announced that they are closing.  They are in what they have called decommissioning.  They are --

MR. SHEPHERD:  Oh, that's right, that's right.

So let's just deal with those two customers.  You are going to have revenues from them, right?  You are going to put them in the account.  And do I understand correctly that the only costs associated with those revenues that you will put in will be incremental costs?

MR. PALIMAKA:  Yes, and we are not aware of any.  The only one we are aware of would be if we had -- if UBE is open for six months, and if the schedule is such that we have to do -- we are required to do oil sampling, and we have spent $5,000, that's a direct cost associated with UBE.  That cost would go to the deferral account.  That is the only example I can think of off the top of my head.

MR. SHEPHERD:  So the impact of using assets, for example, for six months or whatever it is, the costs associated with that you would not be allocating?  That would not -- simply not be recovered?  Amortization, cost of capital, PILs, et cetera, none of that would be recovered?

MR. PALIMAKA:  Well, it would be recovered.  We will have adjusted the rates so that they are correct for the third-term period.  Any revenues -- so any revenues other than the direct cost would go to the deferral account to the credit of customers.

MR. SHEPHERD:  The costs -- those costs associated with serving those customers, those costs of the rate base to serve those customers, you are proposing that under no circumstances would you recover them from the ratepayers in 2009, right?

MR. HUTSON:  Being the stranded assets?

MR. SHEPHERD:  Yes.

MR. HUTSON:  Yes, those are being removed January 1st, '09.

MR. SHEPHERD:  Okay.  Now, second phase, Mr. Todd raises the question, well, what if you use those facilities again for somebody else?  And I assume that the account would then record those revenues too.

MR. PALIMAKA:  Yes, net of any direct costs, they would be recorded there as well.

MR. SHEPHERD:  So if you have to put a, as you say, a different type of transformer in, or you have to repair something before you can hook somebody up to that facility, that would be an incremental cost and would be netted out?

MR. PALIMAKA:  Correct.

MR. SHEPHERD:  And -- but you are not including, for example -- you were talking about using these feeders for your high-growth areas.  Any additional load you get from those areas that attaches to these feeders would not be included.

MR. HUTSON:  Because those assets are still used and useful.

MR. SHEPHERD:  Okay.  I understand.

MR. THOMPSON:  I just want to follow up.  Your numbers -- just to put some numbers to this -- and I am looking at page 8 of 19 of the update.  And you show there that in revenues, original proposal, 21,436,076, and then the update for known loss of load, 20,922,256.  I make that to be a revenue reduction of $513,820.

MR. HUTSON:  That's correct.

MR. THOMPSON:  And that's for the two customers.

MR. HUTSON:  That's correct.

MR. THOMPSON:  Okay.  And so if they both stayed open for the year and generated $513,820, I am understanding you to say to Mr. Shepherd that goes in the deferral account, right?

MR. HUTSON:  Correct.

MR. THOMPSON:  And there are no costs against that, because rate base is out.

MR. HUTSON:  Of the stranded assets, yes.

MR. THOMPSON:  Okay.  So thanks.

MR. PALIMAKA:  Sorry, just for clarification, the only direct cost would be the cost of oil sampling, potentially, a $5,000 cost.

MR. THOMPSON:  Yes, $5,000.  But return on the 422,000 of net book, taxes, and depreciation is out.  You are eating that.  And I suppose you may not eat it, because you may get it all back from UBE, but that's not going into the deferral account.  That is what I understand you to be saying, those costs.

MR. PALIMAKA:  The revenues are going into the deferral account.  You are arguing about the consequences of the revenues going into the deferral account.  All I can confirm is that the revenues, net of any direct costs, will go into the deferral account.

MR. THOMPSON:  But the costs on the 422 that have been removed at rate base are not in regulatory recovery anywhere.

MR. PALIMAKA:  That is also correct.

MR. THOMPSON:  Okay.  Thanks.

MR. SHEPHERD:  Okay.  Let me clear up one other thing.  I am looking at the letter from UBE dated January 28th, and what it says is that this particular plant is going to be shut down between July and December 2009.  Now, that wording normally is sort of a temporary shutdown sort of wording:  We are going to shut it down for six months until there is a recovery.


Is that correct, or is this a permanent shutdown?

MR. PALIMAKA:  This is a permanent shutdown.  I understand exactly the point you are making, and we had asked them to clarify the letter.  They said, We have cooperated enough, that is what you have got, not that they are opposed to it.  They just have a lot of other issues to deal with, so they did not provide us with an updated letter.


I think this letter has to be read, however, in concert with the Toronto Star article, which we can provide a copy of, but clearly they are closing permanently.

MR. SHEPHERD:  Thank you.

MR. PALIMAKA:  And they are closing permanently sometime between July and December of 2009.

MR. SHEPHERD:  Thank you.  Now, I am looking at Exhibit TC1.1, and, in particular, I am looking at table 3C.  Do you have that?

MS. DUGAS:  Yes.

MR. SHEPHERD:  And tell me whether the following numbers are correct.  In your original submission, according to this table, your revenue at current rates would be $15,863,767; is that right?  It's revenue requirement less deficiency.

MS. DUGAS:  Oh, I see.  Okay.

MR. SHEPHERD:  If you want to accept these subject to check, that is fine.  I am just getting the math, the numbers, on the record.

MR. PALIMAKA:  Okay.

MR. SHEPHERD:  And the second part of that is the implication of that is that your original submission asked for a 30.5 percent average rate increase, is that correct, being an additional $4.8 million on a $15.8 million base?

MR. TAYLOR:  Are you talking about an incremental revenue requirement or a rate increase?

MR. SHEPHERD:  The only way you can get it is from more rates, so if the revenue of current rates is 15,863,000, and you are asking for -- you are saying there is a revenue deficiency of 4,843,000.  By my math that means that you need to collect an additional 30.5 percent on the current projected -- on the projected load in the original application.

And that's a rate increase; right?  It's the only way you can get it is to increase rates.

MR. TAYLOR:  Yes, but the rate increases will be different amongst the classes.

MR. SHEPHERD:  I said average rate increase.

MR. TAYLOR:  I don't even know if it is average, but I think you would agree, though, the percentages in terms of a revenue requirement increase.

MR. PALIMAKA:  Yes, absolutely.  We can agree that that's the correct figure for the revenue -- the increase in the revenue requirement, but I can't think of a category that has experienced a greater than 27 percent increase in its rate, so I can't accept that the average rate increase is 30 percent, when I don't know of a category that is seeing greater than 30 percent rate increase.

MR. SHEPHERD:  So the first thing is that is not the increase in your revenue requirement, because in fact the figure that I first gave you, 15,863,767, is not your old revenue requirement.  It's your revenue on forecast load at current rates, nothing to do with revenue requirement.  It's revenues, understood?  Are we agreed?

MS. DUGAS:  I believe so, yes.

MR. SHEPHERD:  Okay.  So the question I am putting to you - and if you want to go away and think about it, that is fine is - is:  Is it correct that your average rate increase in your application was 30.5 percent?

MR. PALIMAKA:  Increase relative to what, I guess is the...

MR. SHEPHERD:  If current rates collect 15,863,000, and you need to collect an additional 4,843,000, that appears to be 30.5 percent.

MR. TAYLOR:  We have set out the rate impacts in the rate application.  They are there.  I am not sure why we have to go down the path of agreeing to a number that we are really not sure how it was generated.

MR. SHEPHERD:  I am entitled to ask whether it is a 30.5 percent rate increase.  You can say you don't know, if that's what you want to say, or you can go away and do the math.  You can't refuse to answer.

MR. TAYLOR:  No, but would you be willing to provide us with a calculation on how you determined that number?  I know you have done it and it is on the record, but it would be helpful if we could see it on paper.

MR. PALIMAKA:  We are not trying to be difficult.  I just don't want to agree -- I mean, I can absolutely agree with your math, subject to confirming the numbers, but -- I trust in your math skills that that is the correct increase in our revenue requirement.

MR. SHEPHERD:  I have not told you that is the increase in the revenue requirement.  It isn't.

MR. PALIMAKA:  Okay.

MR. SHEPHERD:  It's the fraction by which the deficiency is divided by the revenue at current rates, and that should be the rate increase.  So if you don't know the answer, that is fine.  I will move on.


In your updated submission, tell me if this is correct, that your revenue at current rates is $15,504,292?

MS. DUGAS:  Can you repeat that number?

MR. SHEPHERD:  $15,504,292.

MS. SEBALJ:  Jay, can you tell us where you are taking that number from?

MR. SHEPHERD:  It is 20,581,632 minus the deficiency of 5,087,340.  That is how you calculated the deficiency.  Revenue at current rates deducted from base revenue requirement gives you the deficiency.

MS. SEBALJ:  Thanks.  For purposes of the transcript, it is TC1.1, table 3, and it is table C, "Revenue Requirement and Revenue Deficiency Comparison".  Those are where the numbers are.

MR. SHEPHERD:  So I am still waiting for the answer.  Can you confirm that, $15,504,292?

MR. TAYLOR:  Can you repeat the question?

MR. SHEPHERD:  Revenue at your current rates on your updated submission.

MS. DUGAS:  Yes, that's correct.


MR. SHEPHERD:  So if I understand this correctly -- and that, by the way, is a 32.8 percent rate increase, and, again, I understand that you are not going to answer that, but I am putting that on the record.  You can answer it if you choose.

Tell me if I am correct that the change in load from losing these two customers reduces your revenue at current rates by 359,475?  That's the difference between the 15,863,000 and the 15,504,000.

MR. PALIMAKA:  With the update as we proposed, correct, as opposed to the $513,000 figure we have been talking about this morning, which is if we didn't update our application, that would be the lost revenue.

MR. SHEPHERD:  Okay.

MR. PALIMAKA:  The figure you have just pointed to is the consequence of losing these two customers if we update our rate application as we proposed.

MR. SHEPHERD:  Well, no.  Actually, that is not what I am saying.  Revenue at current rates is a calculation in which you look at:  If we just apply the current rates to the load we are forecasting, how much money do we get?

And I am putting to you and asking you the question:  Is the difference between your original submission and your current submission on that number 359,475?

MS. DUGAS:  Based on those calculations, this appears correct.

MR. SHEPHERD:  The difference in your revenue deficiency is only 243,628; correct?

MS. DUGAS:  That's correct.

MR. SHEPHERD:  And the difference between the two, the reason why one doesn't equal the other, is because of this calculation.  I am looking for it now.  I think it's this table 10 in the previous filing, of 115,847, which is the cost-side impacts, right?

MR. PALIMAKA:  Yes.

MR. SHEPHERD:  This is table 10 of the update.  Okay.

All right.  So you're not confident that the bill impacts that -- or, the, sorry, the rate impacts that I am quoting to you are correct, so I am wondering if -- you filed bill impacts only, but you haven't filed distribution rate impacts for your update, I don't think, unless they are somewhere I haven't seen.  Have you filed those?

MS. DUGAS:  No, we have been dealing with total bill impacts.

MR. SHEPHERD:  Okay.  So can you file a full set of distribution rate impacts, please?

MR. PALIMAKA:  On the update, you are asking?

MR. SHEPHERD:  Yes, on the update.  And I am not looking for rate impacts between the update and the original filing.  I am looking for, as if it were your original filing, what are your total impacts, okay?

MR. PALIMAKA:  Understood.

MS. SEBALJ:  I...

MR. SHEPHERD:  I think we need an undertaking number.

MS. SEBALJ:  Yes, I think we need an undertaking number.  I am just wanting to know from Bluewater at what point you think you can produce that.

MS. DUGAS:  We can do that tonight.

MS. SEBALJ:  Okay.  Great.  So let's just -- because we are going to oral hearing, I will mark it TCK1.1.
UNDERTAKING NO. TCK1.1:  TO FILE A FULL SET OF TOTAL DISTRIBUTION RATE IMPACTS.

MR. SHEPHERD:  Now, these calculations of bill impacts and distribution rate impacts and all these things, they come out of a model, right, called the rate-maker 1.1 model?

MS. DUGAS:  That's correct.

MR. SHEPHERD:  Have you filed that model?

MS. DUGAS:  No, we haven't.

MR. SHEPHERD:  Can you file it then, please?

MR. TAYLOR:  Just to be clear, when you say "file the model", exactly what is it that you are asking for?

MR. SHEPHERD:  I am asking you to file the full set of calculations that came to these numbers.  It's a spreadsheet, right?

MR. TAYLOR:  So you are asking for a hard copy?

MR. SHEPHERD:  Well, no, I want to see the calculations.  I want to see how everything was calculated.

MR. TODD:  We have a version of the model which has been provided when requested for all the LDCs, for their clients, which we'll provide in this for -- you are looking for the version that produces these results?  So you are looking at the latest version, essentially.

MR. SHEPHERD:  Yes.  That's a live model?

MR. TODD:  It is what is called a locked version.  It provides all the information that is relevant to the rate application.  It displays formulas, so you can see how everything is calculated.  That's the version that is provided.

MR. SHEPHERD:  This is a model that you developed, right, Mr. Todd?

MR. TODD:  My firm developed it.

MR. SHEPHERD:  It's actually based on the Board's 2006 EBR model, isn't it, originally?

MR. TODD:  Well, not based on it.  It was developed completely independently.  It was developed to -- this version of the model was developed to be look and be consistent field to make it comfortable for clients to use it.

MR. SHEPHERD:  You're starting --

MR. TODD:  Those familiar with it can use it.  But it does more than provide rates for rate applications.

MR. SHEPHERD:  In --

MR. TODD:  But it does much, much more than the EDR model.  It is not an EDR model.  It contains within it what you need for rate application.

MR. SHEPHERD:  The model that you can file, the locked version, does it include inputs that are from other sources?

MR. TODD:  What do you mean, "other sources"?

MR. SHEPHERD:  From sources outside the model.

MR. TODD:  All of the inputs that flow through to the numbers that go in the rate application, that segment of the model, the inputs, as well as the outputs, are all visible.

MR. SHEPHERD:  Okay.  So then we would like it to be provided.

MS. SEBALJ:  It will be marked TCK1.2.  Can I just be clear, it's the model used to calculate the proposed rates, the new -- I just want to be clear on the record.

MR. SHEPHERD:  Yes, what I am asking for is the ratepayer -- sorry, the rate-maker 1.1 model that formed the basis of the numbers in the update.

MS. SEBALJ:  In the update.  Thank you.
UNDERTAKING NO. TCK1.2:  TO PROVIDE THE RATE-MAKER 1.1 MODEL THAT FORMED THE BASIS OF THE NUMBERS IN THE UPDATE.

MR. TAYLOR:  Can I interrupt for one second?

MR. SHEPHERD:  Sure.

MR. TAYLOR:  Are we going to be filing -- you want an electronic copy, so we are going to be filing something on disk, as opposed to a hard copy that will be posted on the Board's website?  How do you want to do it, both hard copy and electronic version?

MR. SHEPHERD:  The electronic version will go on the website.  That's what's happening.

MR. TODD:  The electronic versions get uploaded to WebdDrawer?

MR. TAYLOR:  Directly?  Okay.

MR. TODD:  So it will be downloadable by anybody.

MR. TAYLOR:  Okay.

MR. SHEPHERD:  Is it possible to get that today sometime so we can use it for ADR?

MR. TODD:  You will have it, the same thing, by, at the latest, this evening.

MR. SHEPHERD:  Thank you.

MR. TODD:  If it can be done earlier, I will let you know, if it is available this afternoon.

MR. SHEPHERD:  Thank you.  And that is all my questions, thanks.

MR. CROCKER:  We take issue with something that Mr. Palimaka said in response to Mr. Shepherd's...

UNIDENTIFIED FEMALE SPEAKER:  We can't hear you.

MS. DADE:  We just want to sort of clarify that the increase of rates, and specifically for the large user, is probably just over the 50 percent mark on the distribution rate.

UNIDENTIFIED FEMALE SPEAKER:  Sorry, is your microphone on?

MS. DADE:  Oh, I apologize.  Just during the discussion of the increase to distribution rates, the large-user distribution rate with the new proposal is now over 50 percent from the original -- or from the current rates that are now at Bluewater for that customer class.

MR. PALIMAKA:  And my confusion was with Mr. Shepherd's definition of what he was looking for me to confirm.  I was thinking in terms of total bill impacts.  He was speaking in terms of a different calculation.

MR. CROCKER:  But could you confirm that, please, for us?

MR. PALIMAKA:  It will be confirmed in the calculations, I believe, but if you are not --

MR. CROCKER:  Okay.

MS. DADE:  Okay.

MR. PALIMAKA:  -- satisfied, we will...

MS. SEBALJ:  Can I just, if this is a convenient time -- we have done a little bit of looking for the reference to whether the Board has ever formally allowed a loss of load to be considered as a Z factor.  And the answer to that question in the simplest of terms is "no".

Having said that, I think what the reference that is being made -- and just so that you know, we have looked at the Oakville Hydro Electricity Distribution rate application, which is RP-2002-0067.  We have also looked at the application by Milton Hydro Distribution Inc., which is a rate application, which is RP-2005-0020, and then finally, at the application by Oakville Hydro for rates, EB-2004-0527.

Now, I think that the reference that is being made -- and I -- these cases will be here.  People can make copies if they want to look at them.  But the reference that is being made is probably to the Oakville Hydro case, which is the last one I just mentioned, EB-2004-0527.

And in that case the Board said, and I quote:

"The Board notes the unusual circumstances in this case, the loss of a very material demand in consumption from a single customer and in a customer class consisting of only one other customer.  The Board acknowledges that the Board approved rates, including compensation to the utility, for the risk of business losses.  However, the Board finds that it is appropriate to reallocate revenue responsibility, because the loss that would otherwise be incurred is material beyond the control of the utility and beyond a reasonable level of business loss."

So the reason that I am saying that -- and ultimately, the Board accepted the relief sought and the proposed adjustments to rates.  Now, this wasn't a third-generation IRM, so it's not a Z factor per se, but those -- I think that is probably what people are thinking, because that is what third-generation IRM Z factors -- the criteria are.

I don't know if that is the case you were thinking of, Jay.  Okay.

MR. BABAIE:  The copies are available, in case you want to make additional copies.
Questions by Mr. Thompson:


MR. THOMPSON:  Thanks.  Just a couple of follow-ups to Mr. Shepherd's questions.  When you said you are going to provide a customer bill-impact analysis, do I understand that that means you are going to provide what is Exhibit 9, tab 1, schedule 9 in the initial application, but using the update as the basis for comparison to existing?

MS. DUGAS:  Can you repeat the reference, please?

MR. THOMPSON:  Yes.  I have Exhibit 9.  I guess it's tab 1, schedule 9, attachment 1.  It's 45 pages, and it has a summary sheet, I guess, customer bill impact analysis, and then it goes for each customer class and it breaks out the pieces in the bill that you've used for this comparison.

Is that what we are going to see?

MR. DUFFY:  That is a total bill impact.  I understand that you want to see the distribution-related impact.

MR. THOMPSON:  Right.  Well, are they not shown on these --

MS. DUGAS:  The subtotal?

MR. THOMPSON:  Yes, these tables that follow.  If you go to page 2, we see distribution impact for residential, 33.1 percent for the service charge, 28.2 on distribution.

MS. DUGAS:  Yes.

MR. THOMPSON:  So is that what we are going to get?

MS. DUGAS:  We can produce a replication of these tables for you with the updated information.

MR. THOMPSON:  Okay.  Well, that is what I am interested in.

MR. PALIMAKA:  I saw Mr. Shepherd's thumbs up, so since that is really a question for him, I take it he agrees that that is what he wants.

MR. THOMPSON:  Well, it is a question for us.  We are a team.  So I got that straight.  All right.

My other questions, I am not going to read the questions that we put to you or Mr. DeRose put to you.  They primarily address impacts, and I will come back to them in a minute, but I just want to get the update, if I could, into context.

Perhaps I could start this with drawing your attention to the answer you gave to CME's initial Interrogatory No. 6.  This answer was given on December the 22nd, and the question referred to the original application evidence, where you said that your application had been prepared mindful of the general downward trend of manufacturing.

Then you were asked:  Have there been any closures that materially affected your operations?  In this response, you refer to the Royal Polymers closure; right?

MS. DUGAS:  Correct.

MR. THOMPSON:  And you say in this response:
"Bluewater does not propose to amend this application."

So at that point in time, December the 22nd, Royal Polymers was not prompting you to change things; right?

MS. DUGAS:  That's correct.

MR. PALIMAKA:  Correct.

MR. THOMPSON:  Okay.  And so Royal Polymers was in the application at, I think your evidence indicates, 50 percent of -- is it their 2007 load?

MS. DUGAS:  That is correct.

MR. PALIMAKA:  That is correct.

MR. THOMPSON:  So you had that company in there at a reduced load.  Whatever rate base is attributable to that company remained in the base; is that right?

MR. PALIMAKA:  Correct.

MR. HUTSON:  We didn't take anything out.

MR. THOMPSON:  And then between that date and shortly thereafter, you got this letter from UBE.  Have I got that straight?

MR. HUTSON:  Correct.

MR. THOMPSON:  And that letter, Mr. Shepherd referred you to it.  I just want to take you back to it again, because it's dated the 28th of January.  I assume you had some inkling before you got this letter.  Did this come out of the blue?

MR. PALIMAKA:  It came out the blue to the company, and it came out of the blue to us.

MR. THOMPSON:  Okay.  And then it says:
"Please be advised that UBE will cease operations and be shut down between July and December 2009."

And then you say:
"As we complete negotiations, we will be able to provide a more definitive time frame."

So UBE's -- in the initial application, their forecast load is what, business as usual?

MS. DUGAS:  That's correct.

MR. THOMPSON:  Is there any adjustment in the original application for the downward trend in the economy?

MS. DUGAS:  No, there wasn't.  When the original application -- the forecast was prepared in the spring of 2008.  That was prior to any of the mass Canadian downturn that we are seeing.  UBE gave no indication that they were going to be ceasing operations whatsoever.

MR. THOMPSON:  Okay.  So this letter says they are going to be operating until July, at least, according to the letter.  Do I understand the letter correctly?

MR. PALIMAKA:  That is what the letter says, and would you take that as a guarantee they will be open until July?  I am not sure you can take it that far.

MR. THOMPSON:  I thought I heard you say that as we sit here today, they are still consuming at a high level, or something to that effect.

MR. PALIMAKA:  I was speaking of Royal Polymers; they are.  They announced they were closing.  They are in -- we have sought clarification on the issue.  They have said they are in their decommissioning phase and will likely be there for a further four months.  Even in their decommissioning phase -- we don't exactly know what that means, but even in that phase they are consuming...

MS. DUGAS:  Approximately anywhere from 1,100 to 1,300 kW per month.

MR. THOMPSON:  Is that 50 percent of their normal load, or higher?

MS. DUGAS:  Of their normal load, that is -- of their 2007 load, it is almost a quarter of their load.

MR. THOMPSON:  Okay, thank you.  And so what about UBE?  Are they still running business as usual?

MS. DUGAS:  The announcement came out in January of -- January 12th.  Today is February the 10th.  I am not sure we have seen any recent information on their load in the past three weeks.

MR. THOMPSON:  Well, do you drive by it once a day?  I mean, are they running?

MS. DUGAS:  Well, they are operating.

MR. PALIMAKA:  Absolutely, they are operating.  If you are looking for that type of information, we met with UBE to demonstrate what a surprise the closing was to the local management.  They had laid off approximately 30 people the week before in an attempt to make the company more lean and mean and be able to survive the downturn.

The next day, they were told by head office that they would be closing.  They have since called people back from layoff so that they can catch up with their contractual obligations, because it is their goal to fulfill their contractual obligations, and then close.

So I wouldn't be surprised if their load today is higher than it was month-and-a-half ago.

MR. THOMPSON:  Okay.  Now, is there a scenario where they actually stay open until the end of December?

MR. PALIMAKA:  Pardon?

MR. THOMPSON:  The letter says they shut down operation between July and December.  Is there a scenario where they remain open for the year?

MR. PALIMAKA:  Yes, that is a possibility, and that is why we have made the proposal that we have.  There is too much uncertainty between a July 1st closing and a December 31st closing.

MR. THOMPSON:  Okay.  Well, did you ask them to clarify it?

MR. PALIMAKA:  They don't know themselves.

MR. THOMPSON:  Okay, thanks.  Now, in terms of, again, this update, you identify the options and you mention -- these were mentioned in your opening.

One of the options that -- I am looking at page 9 now of this material.  You have used words to characterize it as "do nothing".  Is that the way it was characterized internally?  You see, the way I look --

MR. PALIMAKA:  We might have used the term "status quo".  There were many authors of this document.  I am not sure I who I can attribute those words to.


MR. THOMPSON:  But the way I would characterize that -- and I am interested to see if this was examined by your company -- is, that option is accepting for 2009 that the risks associated with these possible -- with these transactions are business risks of the utility, and therefore we don't seek any change to our initial filing.  Was it examined in that context?

MR. PALIMAKA:  No, it would have been examined in the context of -- much like in December, when the closure of Royal was not sufficient to prompt us to file an update, the very realistic consideration is, is it worth updating the application and risking a delay of the approval and complicating the application in order to accommodate this known change?

MR. THOMPSON:  Okay.  And then to the Z factor option, which is number 2.  And you have discussed that with others.  Is there a materiality feature to a Z factor in your company's case?

MR. PALIMAKA:  We've -- if you look to the definition of "Z factor" in the third GIRM, there is a materiality definition, and it is .5 percent of distribution revenue, which in our case would work out to $105,000, approximately.

MR. THOMPSON:  All right.  Thank you.  And then with respect to impacts, I just have a couple of questions, if I may.  There is the distribution rate impact, and we will see that in this material that you are going to be providing in response to Mr. Shepherd's undertaking.  And that number is just on these numbers at Exhibit 9, tab 1, schedule 9, for all of the rate classes is north of 30 percent in the initial filing.  That is shown right on the page, right?  And whatever it is based on the update will be -- will be -- we will see it.

And then the -- you go on and talk about the bill impacts.  And I don't want to re-plough that ground.  But do we have anywhere in dollars by rate class the impact of the one-year clearance deferral accounts versus the two-year versus the three-year, so we can see how all that plays out by rate class?

MR. PALIMAKA:  By rate class?

MR. THOMPSON:  Do you understand what I am getting at?

MR. PALIMAKA:  Yes, I understand.  We could speak at a high level of the number, but you want it by rate class, so I don't think that is something we can speak at a high level.

MR. THOMPSON:  Is it in this stuff for CME that you produced in TC1.1?  You had some tables there at 14 and 15, and I couldn't figure it out, quite frankly, but would it be possible to see the dollars?  We see the changed dollars that you are proposing to collect by rate class and this customer-bill impact analysis.

Would it be possible to show the impact on the 2009 numbers of clearing the deferral account in one year, two years, and three years?  Because the longer you clear it, you -- the lesser a reduction you have in 2009, but it sort of smoothes it out in the years following, if I understand what you are saying.

MS. DUGAS:  You want it similar to the Exhibit 9, the full 45-page rate impact, by a customer grouping, for us to do as an undertaking?

MR. THOMPSON:  Well, no, I was thinking you might be able to do it just on the summary page.  In other words, you are showing here customer-bill impact analysis for residential.  And I assume there's a summary page here for every rate class --

MS. DUGAS:  Correct.

MR. THOMPSON:  -- for each of these topics?  625 for distribution charge, total bill 550, and you have a percentage.  Some way that it's transparent.  If you deducted the 4 million of credits in year 1, would that eliminate all the increases for residential on page 1?

MR. PALIMAKA:  Can I take you to table 17 of our update?  Now, that shows the --

MR. THOMPSON:  This is the updated evidence or in the handout?

MR. PALIMAKA:  The updated evidence.

MR. THOMPSON:  Okay.

MR. PALIMAKA:  What I was going to suggest is something like this table, but rather than showing a calculation or a rider, that we would give you the right number in a dollar figure for the disposition over three years, a disposition over two years, and the disposition over one year by rate class.  If we completed that table, reduced it to a dollar figure by rate class, that would be sufficient?

MR. THOMPSON:  I think so.  What is this now?  What is in the proposed two-year --

MS. DUGAS:  Our current proposal includes a three-year disposition, so it includes disposing of $1.3 million per year.


MR. THOMPSON:  But what is the number for residential under the original three-year disposition rate rider?  0.0009, is that dollars?

MR. PALIMAKA:  I believe that's per kilowatt-hour.

MS. DUGAS:  Yes, it's dollars per kilowatt-hour.  So, for example, on table 16 of your handout, in response to CME number 3, the first table shows the proposed three-year disposition, the credit of the .0009 cents, which is a monthly credit, assuming a residential customer at 1,000 kilowatt-hours per month of 90 cents credit per month, which would equate to $10.80 per year.

This analysis just shows what happens at the end of the three years when that rate rider drops off.  That is what this analysis was meant to show.  But it does break it down then by each rate class:  The three-year disposition, and then the table below, with the two-year deferral disposition.


MR. THOMPSON:  Right.  Okay.  But do I understand what this -- just taking the last column, 2012 impact without deferral account credit, is that measuring the impact versus 2011 rates?

MS. DUGAS:  It is showing the 2009 proposed monthly bill, so it would already include all of our proposed revenue requirement changes.  So if we assume then that that is the bill, the 2009 bill, going forward, for the next three years or two years, once that rate rider drops off, the customers would see, on average, between one and a half and a 2 percent bill increase at that point.

MS. DADE:  On the total bill.

MS. DUGAS:  On the total bill.

MR. THOMPSON:  And so do we have this for one year?  This is coming to Ms. Dade's proposition where the credits are cleared by -- cleared in one year?

MS. DUGAS:  One year is provided in table 15.

MR. THOMPSON:  15?  Okay.


MS. DUGAS:  No, sorry, that is total bill impacts.  It does not show -- there is a response somewhere.  One moment, please.  We will have to do the one year.

MR. THOMPSON:  Let me just give you, at a high level, where I am coming from.  If you look at your updated application in this - this is the formal application - and your updated evidence, Exhibit 1, tab 1, schedule 2 and paragraph 4, and these are some of the numbers that Mr. Shepherd was discussing with you.


You will see that the -- you are forecasting a revenue deficiency of 5 million under your update, roughly, 5,087,000?

MR. PALIMAKA:  Can you give us the reference and we will catch up to you?

MR. THOMPSON:  Yes.  It's the formal application.  It's in this stuff you have filed at schedule 2; Exhibit 1, tab 1, schedule 2, paragraph 4.


You had a base revenue requirement that is recovered in rates of 20,707,479.  That's now gone up to 20,591,632, and your revenue deficiency is going up from 483,712 to 5,087,340.  If you subtract those numbers, you get Mr. Shepherd's $15 million, the numbers that he was talking about.

So we are talking roughly 5 million, roughly, on your update, and there is about 4 million of credits, and so if we cleared the credits in year one, you would be collecting a 1 million deficiency in rates.  So we would be close to where we are now.  But in year two, we'd go up to five, plus the IRM add-ons.


So I was trying to get the measure of the impact of that scenario, year two versus year one, and then in year three versus year two it would be smaller, and then year three versus -- are you with me?  That is what I am trying to get at.

MR. PALIMAKA:  I think we understand now, but it is most important that Leslie understands, so...

MR. THOMPSON:  So that is what we were trying to struggle with here in our questions.

MS. DUGAS:  So is there a schedule that we can provide that will clarify for you, and, sorry, can I get a recap of exactly what that would be?

MR. THOMPSON:  Well, if it will give me that impact that I am talking about on a rate class basis.

MR. PALIMAKA:  So he wants to see a year-over-year impact for four years under three-year disposition of the deferral accounts, two-year disposition of the deferral accounts, and one-year disposition of the deferral accounts.  I understand.

MR. TAYLOR:  And you want the impacts on a distribution basis as opposed to total bill, or both?

MR. THOMPSON:  Well, it's distribution rate.  It is versus this 5 million, which is distribution related.

MR. PALIMAKA:  Okay.  So you want to see the fixed and the variable for each class?

MS. DUGAS:  No.

MR. THOMPSON:  Well, you have changed the tilt.  I don't know if I can make it any clearer, but it's trying to get -- I think you understand what I am getting at in terms of the 5 million deficiency you are seeking to recover, reducing it to one, reducing it to -- if you went to two-year clearance, then you were taking out 1,900, I think it is, a year, and if you go three years, you are taking 1,300,000 out a year.

MR. TODD:  The percentage increase in the revenue class year over year with the rate riders taken into account in each of those scenarios.

MR. THOMPSON:  Right, in each of those scenarios.

MR. TODD:  So for your typical customer, Here is how much your bill is going to go up year over year?  You don't care about the breakdown; just how much the bill is going to go up year over year?

MR. THOMPSON:  Correct, in each of those scenarios.  And with that, I am done.

MS. SEBALJ:  Can we just mark that as TCK1.3?

MS. DUGAS:  Sorry, can you repeat that?

MS. SEBALJ:  Sorry, TCK1.3.  It's an undertaking.
Undertaking No. TCK1.3:  Year-over-year impact for all classes.


MR. SHEPHERD:  I forgot a question.  Can I ask it?

MR. CROCKER:  Can I confirm something?  I just want to make sure -- before we leave this point, I just want to make sure that this will be for all classes.

MR. PALIMAKA:  Yes.

MS. SEBALJ:  Yes, I have no objection.  I am assuming Mr.  Taylor doesn't either.  Go ahead.

MR. SHEPHERD:  There was one thing in your update on page 14.  I'm probably just being dense here, but humour me.  On page 14, you have a chart, table 14, which sets out two columns of revenue-to-cost ratios.  One is cost allocation and one is rate application.


Do I understand correctly that it is the revenue-to-cost ratios under rate application which are the basis for your rates?

MS. DUGAS:  That is what we are proposing, yes.

MR. SHEPHERD:  So the adjustments to reduce GS under 50 and to increase GS over 50 and to reduce large users are built in to the proposed rates in table 15?

MS. DUGAS:  That is correct.

MR. SHEPHERD:  Okay, thanks.

MR. THOMPSON:  Sorry, there is one other point in the updated evidence.  I had a note and I forgot to ask it.


At page 6 of this update, the rationale that you offer there in line 3 is the reduction in net income presents an unacceptable risk to Bluewater Power's financial position.


And there is another statement to that effect a little later on in the evidence.  I had a note of it.  It doesn't really matter, I don't think.  Page 6 of 19 is that one I just referred to, but also on page 2 you make this statement:
"Bluewater's financial position going forward will be harmed..."

And then over on page 8, we see that the return on equity would drop from, on original proposal, 7.47 percent on equity.  Now, who says that is going to harm Bluewater's financial position?  I couldn't find any evidence in here from the owner, for example, saying, Go get this.  Do the councils direct you to go and recover this additional money?

MR. PALIMAKA:  No.  We are a for-profit corporation run by our board of directors.

MR. THOMPSON:  Okay, but is there some independent evidence discussing Bluewater's financial position and how it's going to be harmed if you don't get this update?

MR. PALIMAKA:  If we are speaking just about financial impacts, I think that is self evident.  You are perhaps leaning toward, Can you provide me with any evidence that it will harm your reliability or harm your...

MR. THOMPSON:  Well, you have advanced this proposition of harm to financial position, and is the basis for that just the decline in the net income?

MR. PALIMAKA:  Yes.

MR. THOMPSON:  And so you folks have drawn that conclusion here, a decline in net income of two-hundred-and-some-odd thousand, or revenues of 500,000 on 20 million, equals harm to position?

MR. PALIMAKA:  Yes.  If we were outside of a rate application process, the test might be -- again, we have stated that we don't necessarily agree with it, but the test might be that 300-basis-point impact is the threshold.


But we are here today in the middle of a rate application.  We have known impacts to our forecast.  The Board has an obligation to set just and reasonable rates.  We have a right to earn a return on equity of the deemed return on equity rate, and that should be our target.

MR. THOMPSON:  You have made that speech to Mr. Babaie, and I didn't mean to push that button again.  We will leave it there.  Thanks.

MS. SEBALJ:  Anyone else have any follow-up?  Am I missing anyone?  Okay.

Andrew, do you have anything that you need to do, clarify anything?

MR. PALIMAKA:  Sorry, I just wanted to clarify for a second, Mr. Thompson, that -- you had pre-written questions that you filed.  You are satisfied that all of the information that's been provided today has satisfied those written interrogatories?  We didn't walk through them like we did with the others.

MR. THOMPSON:  You make me nervous by asking that question.

MR. PALIMAKA:  We didn't walk through yours like the others.  That's why.

MR. THOMPSON:  No, I didn't, but I prefaced them by saying they were impact-related, except for, I think, the first one, which talked about, if these companies stayed on beyond 2009, would the revenues continue to be recorded in the deferral account.  Did you answer that?

MR. PALIMAKA:  Yes, we did, and the answer is "yes".

MR. THOMPSON:  Yes, then I am satisfied you have -- with your undertakings, you have answered these questions about impacts.  Thank you very much.

MR. TAYLOR:  I would ask that we could take five minutes.  I would like to speak to my client.  There is one issue I wouldn't mind discussing with them just to make sure we don't have to clarify something on the record.  I don't want to have to do it by writing after the fact.  So I would ask everyone to indulge us for five minutes.  We will come back, and likely I will come back and say we are done.

MS. SEBALJ:  Okay.

MR. TAYLOR:  Thanks.

--- Recess at 12:38 p.m.


--- Upon resuming at 12:52 p.m.

MR. TAYLOR:  We have nothing further to add.

MS. SEBALJ:  All right.  Then can I suggest that we go off the record and close the technical conference?  Then we will have a discussion about next steps on the settlement side.


Thanks very much to our court reporter for staying probably while she was very hungry.
--- Whereupon the conference concluded at 12:53 p.m.
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